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1.

MAINDEC-8/I-DO1C-D

ABSTRACT

This is a diagnostic program for testing the AND, TAD, and OPERATE

instructions of the PDP-81 ONLY.

2,

2,1

2.2

stored

2.3

4.3

REQUIREMENTS

Equipment

A PDP-8I1 equipped with Teletype.

Storage

This program uses locations 0000-4421. The Binary Loader must be
in the last memory page.

Preliminary Programs

LOADING PROCEDURE

Method

The standard Binary Loader is used.

STARTING PROCEDURE

Control Switch Settings

SR = 7777

Starting Address

0144

Operator Action

1. Set SR to 144 and press LOAD ADDRESS,
2. Set SR to 7777 and push START.

3. Program will halt, MA=146

4. If AC = 0000 an error has occurred.

5. Push CONTINUE. Program will run until stopped or until an error

is encountered.
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5. OPERATING PROCEDURE

Same as sectiom 4,
6. ERRORS

6.1 Error Halts and Description

See listing.
6,2 Exror Recovery

If it is desired to loop on the test causing the error, replace the
operate instruction preceding the HLT with a JMP to the beginning of the test.
7. RESTRICTIONS

7.1 Starting Restrictions: None

7.2 Operating Restrictions: None
8. MISCELLANEQUS

8.1 Execution Time
256 program loops per second.

9. PROGRAM DESCRIPTION

The program consists of many individual tests. In most cases each
test checks only one function and uses previously tested functions as a basis
for the test. The program counter action is strictly sequential except for
SKIPS., The only JMP instructions used are at the end of the program.

The sequence of testing is as follows:

1. Test all operate functions individually except for rotates.

2. Test TAD instructionmn.

3. Test ROTATE functions.

4, Group 1 operate instruction test., All possible combinations.



10.
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5. Group 2 operate instruction test. All possible combinations.
6. Test AND instruction.

The Telétype bell rings after each 128 program loops.

LISTING



ZINSTRUCTION TEST = 1

Poad
2aal
dar2
oo2s
2oré
a5
2eaé
rga7
g1

229
223
2g22
223
ga24
2925
20826
2827
Ap38
2931
Ba3e
2033
gp34
2935
236
20937
240
Po4d
2p42
24l
pa4d
gg4s
2046
247
P50
B
3052
253
0p54
2055
2356
8o57
2p60
86l
IEYA
2263
PP6s

¢eop
z2eo
5001
0pe2
pe0s
20D
'YLV,
7402
7208
¢0Re

220
¢eep
povl
peo2
2024
2210
2229
go4
2100
z2e
2400
1009
2440
4cep
7776
7775
7773
7767
7757
7757
7877
7577
7477
6777
5777
3777
7777
5252
2525
6800
7000
7409
7009
7740
7760
7778
77174
2903

PALLY

vi41 $=DEC=69

/INSTRUCTION TEST =~ 1

/TARE 1

*Q

HALT:
NOQP,

®«2d
KRUge,
K@Yl

KQB@2,

KB2p4,
K@i12,
KQUv2d,
KBg42,
Kaiaa,
KR2ag,
KP4aa,
K1202,
K2vgo,
K423,
K7776.,
K777%;,
K7773,
K7767
K77574

K7737,

K7677,
K7577
K7377
K&6777,
K5777,
K3I777
K7777
K5252,
K252%)
K&DB2,
K728,
K7432,
K762
K774,
K7762,
K777,
K7774,
KBB@ 3.,

4

JMP 1
0802
P03
?
6000
LT
NOP
¢

/GONSTANTS AND VARIABLES

2060
¢oel
7002
2004
2410
0220
204D
4100
0201
£400
1000
200U
4090
7776
7775
7773
7767
7757
7737
7677
7577
7377
6777
5777
3777
7777
5252
2525
600Y
7800
7402
7680
7740
7760
7778
7774
2003

91a7
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/INSTRUCTION TEST = 4

@255
@266
rYY
gp7e
0e7l
#e72
ee73
#z74
¢275
0876

2027

PALLID

K@207 s
K2267:
K@vi7;
Kea37;
KEe77,
Kel77,
KR377,
K@777%,
K1777,
K778¢,

vi4l

A2a7
ane67
oy
2037
4877
©i77
0377
@777
1777
774¢

J=DEC=69

9127

PAGE 2



/INSTRUCTION TEST = 1

9144
0145
0146

2147
@150

2154
@152
0153

P54
@155
Pi56

B157
D160
16l
8162
0164

164
B16%

g166
0167
B170
2171
2172

2173
8174
2175
2176
2177

2144

1951
7200
7402

7410
7402

7208
7440
7402

7450
7410
7402

7200
1034
7440
7410
7402

7450
7482

7200
1633
7440
7412
7402

7450
7482
7000
7000
7000

PALLS vidl

#144

/TAD'CLA,HLT

START» TAD
CLa
ML T

/SKIP TEST
SKP
mE T

/SEA TEST 1
CLA
SZ4
Hi T

SNa
SKP
HL Y

/S%A TEST 2
CL 4
TAQ
SZa
SKF
ALY

SNA
HLY

/SEA TEST 3
CLa
TAD
SZA
SKP
=LY

SNA
HLT
NOP
NOP
NOQP

J3=DEC=69

P TEST
K/ /777

K4YP8

K2dge

2107 PAGE 3

/AC SHOULO=0
/SEY SR TQ 7777, CONTINUE

/SKP FAILED

/S2A SHOULD HAVE SKIPPED
/AC SHOULD EQUAL ZEROD

/SNA SHOULD NOT HAVE SKIPPED
/AC SHOULD EQUAL ZERO

/SZA SHOULD NOT HAVE SKIPPED
/AC SHOULD LQUAL 4000

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL 4009

/SZA S$KMOULD NOT HAVE SKIPPED
/AC SHMOULD EQUAL 2ude

/8NA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL 2200



/INSTRYCTION TEST -

gope
g271
2222
2223
B2e4

8225
p226

g237
021¢
2211
2212
B9

214
215

8216
2217
2229
#4221
2222

g22s
2224

0225
2226
gaa7
2238
g231

g232
B233

JEdd

722¢
1232
73ﬂ2
7312
7402

7200
1¢31
7449
741¢e
7482

7450
7462

7200
1232
744¢
743,08
7442

7452
7402

7200
1027
7440
74ie
7492

7459
7422

i

CPAL1Z  vi4l $=DEC=69

YEF)
/SEA TEST 4
CLA
TAD K16g2
SEA
SKP
HLT

SNA
HLT

/SEA TEST 5
CLaA
TAD K24@o
SZA
SKP
HLT

SNA
HLT

/SEA TEST 6
CLA
TAD K209
SZA
SKP
HLT

SNA
HL T

/SEA TEST 7
CLA
TAD K@leo
SZA
SKP
HLT

SNA
HLT

91a7 PAGE 4

/524 SHOULD NOT HAVE SKIPPED
/AC SHOULD EQUAL Looe ;

/SNA SHOULD mAVE SKIPPED
/AC SHQULD EQUAL 1@00®

/SZA SHOULD NDT HAVE SKIPPED
/AC SHOULD EQUAL 24290 '

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL 2482

/SZA ShQULD NOT HAVE SKIPPED
/AC SHOULD EQUAL @204 :

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL 02892

/SZA SHOULD NOT HMAVE SKIPPED
/AC SHOULD EQUAL @1¢w :

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL 2189



INSTRUCTION TEST = 1

2234
@232
2236
2237
0249

P24l
B242

@243
0244
8245
p246
0247

0258
p251

@252
8253
2254
D259
2256

pes?
P26

2261
@262
8263
2264
0265

0266
2267

7200
1026
7440
7410
7402

7450
7402

7200
1225
7440
7410
7402

7450
7402

7200
1024
7440
7410
7402

7450
7402

7200
1023
7440
7419
7402

7450
7482

PALLC viél

/884 TEST 8
CLA
TAD
SZA
SKP
HLT

SNA
HLT

/524 TEST 9
- CLA

TAD

SZA

SKP

RLT

SNA
HLT

/SEA TEST 18
CLA
TAD
SZA
SKP
HLT

SNA
HLT

/S8A TEST 11
CLA
TAD
SZA
SKP
HL, T

SNA
Hi T

3=-DEC=69

Kk 4o

Kdvae

Kéu1o

KB4

9107 PAGE 5

/SEA SHOULD NOT HAVE SKIPPED
/AC SHOULD EQUAL 204

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL @id4w

/SZA SKOULD NOT HAVE SKIPPED
/AC SHQULD EQUAL BB2¢

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL #p2e

/SEA SHOULD NOT HAVE SKIPPED
/AC SHOULD EQUAL @010

/SNA SHOULD HWAVE SKIFPPED
/AC SHOULD EQVAL ¢e@le

/SEA SHOULD NOT HAVE SKIPPED
/AC SHOULD EQUAL BU04

/SNA SHOQULD HMAVE SKIPPED
/AC SHOULD EOQUAL P24



/INSTRUCTION TEST =~ 1

227¢
02271
2272
6274
#2274

az27%
2276

2277
B339
2321
2302
6323

B34
325

8326
@347
As510@
@311

8312
p313
0314
2315
0316

2317
83202
2321
gr22
Br23

720¢
1822
7442
7410
73vz

7450
74062

72¢0
1021
744¢
7412
7402

7450
7402

7200
i1e5@
7512
7402

7eeo
1034
7210
7418
7462

7280
1950
7280
7410
7402

PALLZ vial

/SEA TEST 12
CLA
TAD
SEA
SKP
HLT

SN&
HLT

/824 TEST 13
CLé
T&D
SZk
SKF
HLY

SNA
WL T

/SPA TEST &
CLa
TAD
SP
HLT

/SPA TEST 2
CLA
TAD
SPA
SKP
HLT

/SMA TEST &
CLA
TAD
SKe
SKP
HL T

3=DEC=69

Kbvge

Kevel

KS777

K40p3

k8777

9137 PAGE 6

/SZA SHOULD NOT HAVE SKIPPLD
/AC SHOQULD EQUAL BeR2

/SNA SHOULD HAVE SKIPPED
/AC SHOULD EGQUAL @22

/SZA SHOULD NOT HAVE SKIPPED
/kC SHOULD EQUAL 2de1

FSNA SHOULD HAVE SKIPPED
/AC SHOULD EcUAL 2281

/SPA SHOULD KAVE SKIPPED
/AC SHOULD EQUaL §777

/SPA SHOULD NOT HAVE SKIPPED
/AC SHOULD EQUAL 4o¢e

/SMA SHOULD NOT HAVE SKIFFED
ZRC SHOULD EQUAL 3777



/INSTRUCTION TEST = 1

324
Q32>
03296
2327

0330
4331
2332
2333
2334

8332
2336
2337
0340
9341

2342
2343
#3344
2345

2346
2347
2350
2351
2352

2353
2354
2355
8356

7228
1854
7508
7482

7208
1051
7540
7442

7402,

7208
1853
7040
7450
7302

1253
7040
7442
74102

7200
1052
7040
7458
74¢2

1¢52
704E
7349
7482

FALL2 vidl

/Sma TEST 2
CLA
TAD
SMA
HELT

/CMa TEST 1
CLA
TAD
CMA
SZA
HLT

/CMA = TAD
CLA
TAD
CMA
SNA
HLT

TAD
CMA
524
WL T

/CMA = TAD
CLA
TAD
CMA
SNA
HLT

TAD
CMA
SZA
HLT

I=0EL=69

K4vpu

K7777

TESY 3
K2%525

K225

TEST 2
K5252

K3252

9127 PAGE 7

/8MA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL 4204

/CMA DID NOT COMPLEMENT AC
/AGC SHOULD EQUAL @dee

/TAD QR CMA ERROR
/AC SHOULD EQUAL 52532

/TAD OR CMA ERROR
/AC SHOULD EQUAL Reew

/TAD OR CMA ERROR
/AC SHOULD EGUAL 2525

/TAD OR CMA ERROR
/AC SHOULD EQUAL @2@@



ZINSTRUCTION TEST = 1 PALLA vidl J=DEC=69 9127 PAGE 8

/CMA = TAD TEST 3

33T TEu¢R CLA
2360 1451 TAD KZ777
2341 7249 CMA
3362 7440 SEA
2368 742 HLT /TAD OR CM& ERROR
/AC SHOULD EQUAL uvage
/1AC TEST 1
2364 7280 ClA
3355 7081 1AC
B366 7440 Stk
8367 7410 SKP
9378 T4p2 HLT /1AC DID NOT INCREMENT
/7AC SHOULD EQUL @@2e1
/1AC TEST 2
2371 7282 clLA
2372 198%1 TAD K7777
@373 7001 14C
@374 744D SE4
2375 7482 HLY /1AC DID NOT INCREMENT
/AC SHOULD EQUAL @2@v
2376 7420 NOP
377 7080 nNOP
€420 64050
/1AC TEST 3
4zd V2082 CLA
8421 1963 TAD K7774
8422 7991 [AC
2433 730t 14C
gazé 7481 1aC
840y 7081 1AC
2426 7449 SZA
Baz? 7482 AL T /1AC NOT JINCREMENTING
/AC SHOULD EGUAL 2040
/SEL TEST 1
2412 7200 CLA
8411 7102 cLi /CLEAR L INK
2412 7824 RAL /CLEAR LINK SAFETY
8413 7432 SZL
Base 7402 WLY /S2| SHOULD WAVE SKIPPED

/LINK SHOULD EQUAL ZERD



/INSTRUCTION TEST = 1

2419
2416
24817
2420
0421
2422
2423
R4a24

2425
2426
2427
0430
2431
432

2433
2434
0433
2436
2437
2440
2441

7200
7i¢e
70280
1434
7904
7430
7410
7302

7200
7100
7004
7420
7410
7402

7200
7180
7020
1434
7804
7420
7402

PALLA vidl

/S2L TEST 2
CLA
CLi
CML
TAD
RAL
SZL
SKP
ML T

/SN|, TEST 1
CLA
CLL
RAL
SNL’
SKP
HLT

/SNL TEST 2
CLA
CLL
CHL
TAD
RAL
SNL
HLT

3=-DEC=-679

Kavgo

107 PAGE 9

/CLEAR LINK
/COMPLEMENT | INK

/SET LINK SAFETY

/SEL SHOULD NUT HAVE SKIPPED
ZLINK SHOULD EQUAL ONE

/CLEAR LINK
/CLEAR LINK SAFETY

/SNL SHOULD NOT HAVE SKIPPED
/LUINK SHOULD EQUAL ZERO

/CLEAR L INK
/COMPLEMENT LINK

/SET LINK SAFETY

/SN SHOULD HAVE SKIPPED
/LINK SHOULD EQUAL ONE



/INSTRUCTION TEST - 1 PALL? vidy 3=DEC=69 917 PAGE 182

/CLL, TEST %
2442 7202 CLaA
24485 1934 TAD K4<0¢
2449 7004 RAL /SET LINK
Baab 7420 SNL
B4a46 5253 JMP CLL11 /CANNOT SET LINK W]TH RAL
/TRY A CM{
2447 7100 CLL1, CLiL
2458 7430 SEL
2451 7402 W T /CLL DID NOT CLEAR LINK
/LINK SHOULD EQUAL ONE
2452 5257 JMP (¥5
B453 7020 CLbil, CML /SET LINK
2454 7420 SNL
B455 7482 LY Z/CANNOY SET LINK WITH
/RAL QR CMiL, CANNOT
/PERFORM CLL TEST %
24586 5247 JMP CLLL
/CML TEST 1t
8457 7108 CMLT1: CLL
8462 7480 SEL
2461 74¢2 ML Y /CLL DID NQT CLEAR LINK
Bas2 70282 CML
463 7420 SNL
2464 7402 HL T /CML DID NOT SET (INK
2465 762€ ML
2466 7430 SE|
467 7402 HLT /CML DID NOY RESET LINK
/CLA TEST 1 (OPERATE GROUP 2)
24avd 729 CLA
2471 1091 TAD K7777
Ba72 7600 7688
8473 7440 SEA
2474 7402 HLT /CLA (7628) DID NOT CLEAR 4C
/AC SHOULD EGUAL @488
: /0SR TEST
8475 V0L CLa
€476 T404 QSR
0477 7040 CMA
2524 7440 SEA
@52y 74@2 LT /0SR DID NGCT SET AC TQ 7777

/AC SHOU_D=@



ZINSTRUCTION TEST = L PALLD vidl 3=DEC=69 9187 PAGE 11

/NOP TEST 1 (OPERATE GKOUP 1)

2322 72080 CLA
2528 7109 CLl /AC AND LINK EQUAL ZERO
0524 79400 798¢ /TEST INSTRUCT]ON

8525 7450 SNA

0506 7430 SEL

@527 7402 HLT JNOP FAILURE

/AC AND LINK SHOULD BE ZERO
/NOP TEST 2 (OPERATE GROUP 2)

2510 7200 CLA ‘
2511 7109 Chl /AC AND LINK ELQUAL ZERO
0512 7409 7480 /TEST INSTRUCT]ON
8519 7453 SNA
2514 7430 SEL
#515 7402 WL T /NOP FAILURE
ZAC AND LINK SHOULD BE ZERO
/TAD TEST 1
8516 7202 CLA
9517 1059 TAD K3777 /OPERAND 1
p520 1034 TAD KA4Lo¥ /OPERAND 2
@521 7249 CMA
9522 7449 SZA
2528 7492 HLT /TAD ERROR

/AC SHOULD EQUAL @229
/TAD TEST 2

524 7220 CLA
2525 1047 TAD K5777 JOPERAND 1
28526 1933 TAD K2009 JORERAND 2
8527 7049 CMA

2538 744p SZA

2531 7492 HLT /TAD ERROR

/AC SHOULD EQUAL 2999
/TAD TEST 3

#532 7299 CLA
4533 1448 TAD K6777 FOPERAND 1
9534 1932 TAD K140 /OPERAND 2
2535 7240 CHA
9536 7442 SEA
2337 7402 HLT /TAD ERROR
/AC SHOULD EGVAL 8920
/TAD TEST 4
P542 7200 CLA
2541 1045 TAD K7377 /OPERAND 1
2542 1031 TAD Ku4dd /OPERAND 2
0543 7040 CMA
2544 7449 SZaA
9545 7402 HLT /TAD ERROR
/AC SHOULD EQUAL 0409
/TAD TEST 5 '
2546 7209 CLA

B847 1044 TAD K7277 ' JOPERAND 1



ZINSTRUCTION TEST - 1 PALL1Z vidl SwDEC=09 137 PAGE 11=1

@gssp 1830 TAD K@2gd¢ /OPERAND 2
@551 7449 CMa

@552 7440 SZA

@553 7402 LT /TAD ERRQR

/AC SHOULD EQUAL 0200
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/TAD TEST 6
554 7289 CLA
g555 1243 TAD K7677 /OPERAND 1
2556 1827 TAD KO109 /QPERAND 2
2557 7242 CMA
@568 7440 SZA
@561 74@2 RLT /TAD ERROR
/AC SHOULD EQUAL B8ge
/TAD TEST 7
9562 72090 ClLA
B563 1242 TAD K7737 /0PERAND 1
564 1026 ‘ TAD KPB4p /OPERAND 2
@565 7048 CMA
B566 7448 SZA
6567 7402 HLT /TAD ERROR
/AC SHOULD EQUAL @eep
/TAD TEST 8
570 7200 CLA
2574 10431 TAD K7757 /OPERAND 1
@872 1825 TAD K@B202 /0PERAND 2
2573 7042 CMA
@574 7449 SZA
B575 7402 HLT /TAD ERROR
/AC SHOULD EQUAL @009
g576 7289 NOP
8577 7000 NQP
YT YL
/TAD TEST 9
680 7200 ClLA
2601 1049 TAD K7767 /OPERAND 4
P682 1024 TAD KBP10 /0PERAND 2
26p3 7042 CMA
Beg4 7442 SBA
0685 7482 HLT /TAD ERROR

/AC SHOULD EQUAL Pege



ZINSTRUCTION TESY - )

2606
h627
2612
Be1l
€612
2613

B614
2615
2616
2617
2620
2621

g622
te2d
ge2é
0625
0826
pe27

g632
2633
0632
2633
v634
#6335
2636

7200
1287
1023
7048
7440
7402

7280
1836
iv2e
7840
7440
7402

7200
1035
1621
7040
7440
yap2

7208
7160
1834
1834
7430
7440
7402

PALLD vial

/TAQ TEST 14

CLA
TAD K7773
TAD K2PD4
CMA
SZA
HLY

/TAD TEST 11
CLA
TAD K7775
TAD KQU2Z2
CMA
S2A
HLT

/TAD TEST 12

CLA
TAD K7776
TAD KP221
CMA
SZA
HLT

/TAQ TEST 13
(N
Chi
TAD
TAD
SZL
52A
HLT

8 S

R X
15
s m

3=0DEC=69

9127
/QPERAND
/QPERAND

/TAD ERROR
/AC SHOULD EQUAL

/QPERAND
/0PERAND

/TAD ERROR

/0PERAND
/QPERAND

/TAD ERROR
/AC SHOULD EQUAL

/QPERAND
/QPERAND

/TAD ERROR, AC S
/LINK SHOULD BE

PAGE 13

eoege

HOULD EQUA|L 2099
EQUAL ONE,



/INSTRUCTION TEST = 1

2637
2642
2641
0642
2643
Boa4
2645

2646
0647
2652
2651
0652
2653
8654

0653
2656
8657
2660
2661
2662
2663

Becé
8645
Bs6b
e67
8670
2671
0672

0673
2674
867%
2676
8677
2728
@791

pr2e
8753

7200
7120
194
1033
7430
7440
7402

7200
7100
1055
1932
7438
7440
7302

7200
7400
1856
1631
7430
7440
7402

7200
7i00
1957
1230
7430
7440
7402

7200
7100
1876
1027
7450
7440
7482

7200
7100

PAL1®

/TAD

/TAD

/TAD

/TAD

/TAD

/TAD

vi4l 3=DEC=69

TEST 14
CLA
cLL
TAD KOV@Y
TAD K2002
S3L
SZA
HLT

TEST 15
CLA
CLL
TAD K749
TAD Klvpe
SEL
SZA
HLT

TEST 16
CLA
cLl
TAD K740
TAD K@aee
S2L
SZA
HLT

TEST 17
CLA
cLL
TAD K7600
TAD KK209
SZL
SZA
HLT

TEST 18
CLA
Ll
TAD k7728
TAD K300
Sl
SZA
HLT

TEST 19
CLA
CLL

9127 PAGE 14

/0PERAND 1
/0PERAND 2

/TAD ERROR, AC SHOULD EQUAL
/LINK SHOULD EQUAL ONE

/QPERAND 1
/QPERAND 2

/TAD ERROR, AC SHOULD EQUAL
/LINK SHOULD EQUAL ONE

/0PERAND 1
/0PERAND 2

/TAD ERROR, AL SHOULD EQUAL
/LINK SHOULD EQUAL ONE

¢0PERAND 1
/0PERAND 2

/TAD ERROR, AC SHOULD EQUAY
ZLINK SHOULD EQUAL ONE

/OPERAND 1
/QPERAND 2

/TAD ERROR, AC SHOULD EQUAL
/LINK SHOULD EQUAL ONE

PYrT

vaue

LY Iy

voe

peos
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0704
2725
2726
8787
2710

2713
8712
2713
2714
@715
2716
g747

2720
2721
g722
8723
8724
g725
2726

@727
6738
2733
2732
2738
2734
@735

6736
2737
2740
@741
¢742
2743
2744

1060
1026
7430
7440
7402

7208
7100
1261
1925
7438
7440
7402

7202
7120
1062
1824
7430
7440
7402

7200
7408
1663
1023
7430
7349
7402

7208
7100

1835

1822
7430
7440
7422

PALLD

vi4l 3=DEC=69

TAD K774
TAD k8042
SEL
SZA
WL T

/TAD TEST 20

CLA
CLi
TAD K7768
TAD K@822
SEL
SZA
HLT

/TAD TEST 21

CL&
cLL
TAD K7778
TAD K@éio
SEL
SZA
RLT

/TAD TEST 22

CLA
CLL
TAD K7774
TAD KBUD4
SEL
SZA
HLT

/TAD TEST 29

CLA
Cll
TAD K7776
TAD K22@2
SZ(
S2A
HLT

9taz PAGE 15

/QPERAND 1
/OPERAND 2

/TAD ERROR, AC SHOULD EQUAL vB@D
/LINK SHOULD EQUAL ONE

/O0PERAND 1
/0RERAND 2

/TAD ERROR, AC SHOULD EQUAL @g@e
/LINK SHOULD EQUAL ONE

/0PERAND
FQPERAND 2

/TAD ERROR AC SHOULD EQUAL 0uB#©
/LINK SHOULD EBUAL ONE

/0RERAND 1
/QPERAND 2

/TAD ERROR, AC SHOULD EQuAL 2088
/LINK SHOULD EQUAL ONE

/QPERAND 1
/QPERAND 2

/TAD ERROR, AC SHOULD EQUAL 2@@2
/LINK SHOULD EQUAL ONE
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9745
2746
2747
2750
R7514
2752
2753

2754
2755
2756
2757
2760
2761
8762
2763

6764
8765
8766
8767
8779
2771
@772
8773
2774

2773
2776
8777

1000
leol
ip02
102$
1804
1209
1026
1007
1219

7200
7100
1451
1021
7430
7440
7402

7200
7100
7020
1934
1034
7420
7442
7402

7200
7400
1950
1033
1633
7042
7420
7440
7402
7000
7000
7000
1éep
7200
7100
1047
1632
1032
7040
7429
7440
7402

PALL1Z vial 3=DEC=69

/TAD TEST 24
CLA
cLL
TAD K7777
TAD KD©Q1
SZ|
S&A
HLT

/TAD TEST 25
CLA
CLL
CML
TAD K4u@p
TAD K4@pQ
SNL.
SZA
LT

/TAD TEST 26
CLA
CLL
TAD K3777
TAD K2082
TAD K2000
CMA
SNL
SZA
HLT

NQP
NOP

NOP
#1200
/TAD TEST 27
CLA
CLL
TAD K5777
TAD Ki000
TAD Kivee
CMA
SNL
$ZA /TAD ERR
HLT /LINK SH

Q127 PAGE 16

/0PERAND 1
/0PERAND 2

/TAD ERROR, AC SHOULD EQUA| ©@9®
/LINK SHOULD EQUAL ONE

/0PERAND 1
/O0PERAND 2

/TAD ERROQR, AC SHOULD EQUAL o@@g
/LINK SHOULD EQUAL ZERQ

/0PERAND 1
/OPERAND 2
/QPERAND 3

/TAD ERROR, AC SHOULD EQUA| 2202
/LINK SHOVULD EQUAL ZERD

/OPERAND 1
/OPERAND 2
/0PERAND 3

OR AC SHOULD EQUAL 3p20
OULD EGUAL ZERQ



ZINSTRUCTION TEST - 1

7200
7120
1046
18351
103}
7048
7420
7440
7402

72pve
7108

C 1845

1038
1030
7040
7429
7448
7422

7200
7100
1644
1027
1027
7840
7420
7440
7422

veee
7160
1243
1826

- 1826

7040
74280
7449
7402

PALLD visl 3=UEC=69

/TAD TEST 20
CLA
CLL
TAD K&6777
TAD Kd4go
TAD KV403
CMA
SNL
SZA
HLT

/TAD TEST 29
CLA
CLi
TRD KT377
TAD K2@d
TAD KK2003
CMA
SNL
S2&
HL T

/TAD TESY 30
CLA
CLt
TAD K7277
TAD KBLl@D
TAD Kelge
CMa
SNL
SZA
HLT

/TAD TEST 31
CLA
CLl
TAD K7677
TAD K@Z42
TAD K@0402
CMA
SNL
SZA
HLT

9ia7 PAGE 17

/QPERAND 1
/OPERAND 2
/0PERAND 3

/TAD ERROR, AC SHOULD EQUAL ©P0¥
/LINK SHOULD EQUAL ZERO

/0PERAND 1
/OPERAND 2
/0PERAND 3

/TAD ERROR, AC SOULD EQUAL o280
/LINK SHOULD EQUAL EERO

/0PERAND 1
FOPERAND 2
/0PERAND 3

/TAD ERROR, AC SHOULD EQUAL 2989
/LINK SHOULD EQUAL ZERD :

/OPERAND 1
/OPERAND 2
/OPERAND 3

/TAD ERROR, AC SHOULD EQUAL 2900
/LINK SHOULD EQUAL ZERO



/INSTRUCTION TESY = 1

1955
1256
1057
1060
1063
1062
1063
1064
10645

1066
1967
lo76
1971
1872
1973
1074
1g7%
1876

1227
1100
1101
1102
1123
11e4
1105
1126
1127

1110
1111
1112
1113
1114
1115
1116
1117
1120

720¢
7100
1042
1925
1925
7040
7420
7340
7402

7202
7168
1041
1024
1624
7049
7420
7448
7482

7200
7100
1048
1023
1023
7040
7420
7440
7402

7208
7iee
1837
1022
1022
704
7420
7440
7462

PALL®R vi4l SeDECmET

/TAD TEST 32
CLA
cLi
TAD K7737
TAD KoV20
TAD K2D20
CMA
SN
SEA
HLT

/TAD TEST 33
CLA
CLL
TAD K77587
TAD KER10
TAD K2é10
CMA
SNL
SZA
HLT

/TAD TEST 34
CLA
CLL
TAD K7767
TAD K@¢pa
TAD KBB4
CMA
SNL
SZA
Ml T

/TAD TEST 35
ClA
CLL
TAD K7773
TAD KBUp2
TAD K002
CMA
SNL
SZA
HWT

{127 PAGE 18

/0PERAND 1
/QPERAND 2
/0PERAND &

/TAD ERROR, AC SKOULD EQUAL 9280
/LINK SHOULD EQUAL ZERD

/QRERAND 1
/QPERAND 2
/QRERAND 3

/TAD ERROR, AC SHOULD EQUA| B0ED2
/LINK SHOULD EQUAL ZERO

/QPERAND 1
/0PERAND 2
/0PERAND 3

/TAD ERRQOR, AG SHOULD EQuAL 0280
/LINK SHOULD EQUAL ZERO

/QPERAND 1
ZQRERAND 2
/OPERAND 3

/7TAD ERROR, AC SHOULD EGUAL 2080
/LINK SHOULD EGQUAL ZERO



71nSTRUCTEON TEST = 4

1121
1122
1123
1124
1125
1126
1127
1130
1131

1132
1133
1134
1135
1136
1137

1142
1141
1142
1143
1144
1145

1146
1147
1159
1153
1152
1153

7200
7109
1836
1221
1824
7249
7420
7438
7302

7200
7100
1021
7010
7420
7402

720%
7100
1022
7e1e
7446
7402

7200
7108
1020
7810
7432
7402

PALLY vi4l

/TAD TEST 36
CLa
CLi
TAD
TAD
TAD
CMA
SNL
SEL
LT

/RAR TEST 1
CLA
cLi
TAD
RAR
SNL.
HLY

/RAR TEST 2
CLA
Ll
TAD
RAR
SZA

NLT

/RAR TEST 3
CLa

oLl
TAD

""RAR
SEL
HLT

I=DEC»69

K7775
CLLTY
Keugl

KoBo1L

K¥v@d

9127 PAGE 19

/QPERAND 1
/QPERAND 2
/QPERAND 3

/TAD ERROR, AC SHOULD EQUA|L 20082
/LINK SHOULD EquaL ZERD

/ROTATE PATTERN

/RAR FAILED, LINK DROPRED A BITY
/LINK SHOULD EQUAL A ONE

FROTATE PATTERN

/RAR FAILED, AC PICKED UP A BIT
/A ONE IN AC EQUALS THE PICKED UP BIT

/ROTATE PATTERN

/RAL FAILED, LINK PICKED UF A BIT
/LINK SHOULD EQUAL ZERO



ZINSTRUCTION TEST = 1

1154
1155
1156
1157
1160
1161
1162

1159
1154
1145
1168
i&é?
L1782
1171
1172

173
1174
1173
1175
1174

1249
1221
ize2
12¢3
1204
1209
12¢6
la¢7
1219
1211

1212
1213
1214
1215
1216
1217
1220
1221
1222

7200
7102
7020
12020
7219
7430
7402

720%
7100
79282
1851
7019
7249
7442
7492

KE'S4s
Pl
7o
(ITE
s

1€3¢

7200
7198
7820
102
7¢1¢
185¢
7048
74%¢
7430
7402

7200
7iep
1034
7018
1047
7048
7450
7338
7482

PAL1Z V144 3eDECe69

/RAR TEST 4
ClLA
CLL
CML,
TAD Kiepo
RAR
SEL
HLT

/RAR TEST &
CLA
Ll
CML
TAD K7777
RAR
CMA
5ZA
HLT

NOP
NQP
NOP
NQP
MOR
21280
/RAN TEST 6
CLA
CLL
CML
TAD Kobey
RAR
TAD K3777
CMA
SNA
SZ|
HLT

/RAR TEST 7
ClA
Ll =
TAD K4298
RAR
TAD K5777
CMA
SNA
S2|
WL T

Y147 PAGE z@

/ROTATE PATTERN

/RAR LINK PICKED UP A BIT
/LINK SHOULD EQUAL ZERO

/ROTATE PATTERN

/RAR FAILED AV DROPPED A 8T
/A ONE IN AC EQUALS THE DROPPED BIY

/ROTATE PATTERN

/RAR FAILED AC AND LINK

/SHOULD EQUAL e2o0

/ROTATE PATTERN

/RAR FAILED AC AND LINK SHOULD

/EQUAL 0200



ZINSTRUCTION TEST = 1

1223
1224
122%
1226
1227
1232
1231
1232
1233

1234
1238
ir16
i2487
1242
1443
iped
1243
1244

1245
12406
1247
125¢
1251
1252
1253
1254
1255

72¢8
7129
1033
7610
1646
7048
7458
7432
7482

b A dd
716w
1682
Te1e
1H45
7040
F4bp
Fedy
Favd

Tl
7180
i081
7518
1044
7048
7480
7433
7402

PALLE  Vi4l 3-DEC=69

/RAR TEST 8
CLA

cLL
TAD K20@®
RAR
TAD K&777
CMA
SN&
S2L
LT

/RAR TEST ¢
CL&
CLL
TAD Kideo
RAR
TAD K7377
CME
Gt
5L
LY

ARAR T[BY 12
CL&
cLi
T wiBAER
RAF
ThG K7577
CHMA
SNA
sZi
HL T

9187 PAGE 2%

/ROTATE PATTERN

/RAR FAILED AC AND LINK SHOULD
/EQUAL 22020 1

/ROTATE PATTERN

/RAR FAILED AC AND LINK SHOULD
/EQUAL BeB2

/RQTATE PATTERN

/RAR FaJLED AC AND LINK
/SHQULD EQUAL @2pae



/INSTRUCTION TEST = {  PALLD V14l 3=DEC=69 $187 PAGE 22

/RAR TEST 11

1256 7400 CLA

1287 7109 cLl

1260 1430 TAD K@220 /ROTATE PATTERN
1261 7419 RAR

1262 1043 TAD K7677

1263 7249 CMA

1264 7450 SNA

1263 7430 SZL

1266 7402 HLT /RAR FAJLED AC AND LINK

/EQUAL oBOR
/RAR TEST 42

1267 72¢0 ClLA

1272 riep cLi

1271 @27 TAD K@1@2 /ROTATE PATTERN
1272 79018 RAR

1273 1042 TAD K7737

1274 7840 CMA

1275 7450 SNA

1276 74%0 SE|

1277 74@2 HLY /RAR FAILED AC AND LINK

/SHOULD EQUAL 202
/RAR TEST 13

1300 7200 ClLA
1324 7100 Ll ,

1322 1vzé TAD Kib4g /RQTATE PATTERN
1383 7010 RAR

1344 1043 TAD K7787

1305 7049 CMA

1386 7450 SNA o

1327 7430 S S :

1310 7482 HL T /RAR FAILED AC AND LINK

/SHOULD EQUAL 2209



FINSTRUCTION TEST = 1 PALLZ V14l 3=0EC~69 2137 PAGE 23

PAUSE



/INSTRUCTION TEST » 3 PALL1D vidl 3nDECe69 107 PAGE 24

/INSTRUCTION TEST 1

/TAPE 2
/RAR TEST 14
1311 7209 ClA
1312 7100 CLi
1313 1225 TADR K@R20 /ROTATE PATTERN
1314 72102 RAR
1315 j04e TAD K7767
1316 7042 CMA
1317 7459 SNA
1328 7430 ' 581, :
1321 7482 HLT /RAR FALLED AG AND LINK

/SHOULD EQUAL 0Do2
/RAR TEST 15

1322 72e2 CLA
1323 7100 CLL

1324 1924 TAD Kevie /ROTATE PATTERN
1325 Y010 RAR

1326 1837 TAD K7773

1327 79242 CMA

1332 7458 SNA

1331 743¢ 52|

1332 7422 HLT /RAR FAILED AC AND LINK

/SHOULD EQUAL @200
/RAR TEST 16

1333 y2e0 CLA
1334 7ies cLL

1335 1023 TAD KP2R4 /ROTATE PATTERN
1336 7812 RAR

1337 1238 TAD K7775

1348 7242 CMA

1341 7452 SNA ‘

1342 7438 SZ|, ‘

1343 7482 HLY /RAR FAILED AC AND LINK

/8RQULD EQUAL R020
/RAR TEST 17

1344 7200 CLA
1345 7108 CLL

1346 1022 TAD Kvupz /RQTATE PATTERN
1347 7010 RAR

1358 1835 TAD K7776

1354 7048 CMA

1352 7459 SNA

1353 7430 S2L

1384 74022 HLT /RAR FAILED AG AND | INK

/SHOULD EQUAL oR00@



FINSTRUCTION TEST = 1

1359
1356
1387
1362
1363
13624
1343
1364
13675

1366
1367
1376
1371
1372
1373

1374
1375
1376
1377

1420
1421
1422
1403
1404
14¢5

14016
1497
1419
1413
1412
1413

1414
1415
1416
1417
1420
1421
1422

7200
7100
1821
7610
1251
7040
7452
7420
74e2

7200
7100
ide2
7012
7420
7402

7008
7020
7000
7920
1422

7200
7100
1020
7012
7449
7422

7280
7100
162¢
7012
7430
7402

7209
7108
7822
102e
7912
7438
7402

PAL1D vial

/RAR TEST 4i8
CLA
CLL
TAD
RAR
TAD
CMA
SNA
SNL
HLT

/RTR TEST &
CLA
cLb
TAD
RTR
SN
LY

NOP
NQP
NQP
NOP

#1428

/RTR TEST 2
cLA
CLL
TAD
RTR
SZA
ML T

/RTR TEST 3
CLA
cLl
TAD
RTR
S2L
HLT

/RTR TESY 4
CLA
cLi
CML
TAD
RTR
SZ|
HLT

J=QEC=6F

KeBa1

K7777

K802

Kgovge

Kebae

Ku®B oy

9127 PAGE 25
/ROTATE PATTERN

/RAR FAILED AG AND LINK
/SHOULD EQUAL @000

/ROTATE PAYTERN

/RTR FAILED LINK DROPPED
/A BIT LINK SHOULD EQUAL A ONE

/ROTATE PATTERN

/RTR FAILED AC PICKED UF A
/A ONE IN AC EQUALS THE PPCKLD UP glT

/ROTATE PAYTERN
/RTR LINK PICKED UP A BIT
/LINK SHOULD EQUAL ZERQ

/ROTATE PATTERN

JRYR [Nk PICKED UP A EIT:
/LINK SHOULD EQuUAL ZERD



/INSTRUCTION TEST = 1

L423
1424
1425
1426
1427
1430
1431
1432

1433
1434
1435
14306
1437
1449
1441,
1442
1443
1444

1445
1446
1447
1458
1451
1452
1453
1434
1459

1456
14587
1462
1461
1462
1463
1464
1465
1466

7208
7188
7420
1051
7612
7049
7443
7422

7208
7199
7828
1022
7812
1247
7042
745¢
7432
7402

7208
7109
1834
7212
1846
7049
7450
74382
7442

7200
7180
1833
7012
1045
724¢
7452
7438
7402

FALLD vidl

/RTR TEST 5
CLA
cLL
cML
TAD
RTR
CMA
SZA
HLT

/RTR TEST 6
i CLA
CLL

CML

TAD

RTR

TAD

CMA

SNA

SEL

HLT

/RTR TEST 7
CLA
cLl
TAD
RTR
TAD
CMA
SNA

ImDEC=69

K7777

KoLew

K5777

KaLoo
K&777

S2l

Hb T
/RTR TEST 8
CLA
Chl
TAD
RTR
TAD
CMA
SNA
S
HLT

K202
K7877

9107 PAGE 26

/ROTATE PATTERN

/RTR AC ORQPPED A BIT A ONE [N
/AC EQUALS THE DROPPED BIT

/ROTATE PATTERN

/RTR FAILED AC AND LINK
/8HOULD EQUAL €092

/ROTATE PATTERN

/RTR FAJLED AC AND LINK
/SHOULD EQUAL @222

JROTATE PATTERN

/RTR FAILED AC AND LINK
/SHOULD EQUAL @200



FINSYRUCTION TEST =

1467
147¢
1471
1472
1473
1474
1475
1476
1477

152¢
1523
15¢#2
1543
15¢4
18p5
1526
1507
15149

1511
1512
1518
1514
1515
1516
1517
1527
1521

1522
1523
1524
1525
1520
1527
1532
1531
1532

72¢2
7129
1882
7812
1244
7448
7452
7430
7422

7200
7100
18334
7812
1043
7040
7450
7438
7402

7208
7100
1639
7212
1242
7240
7458
7432
7482

72432
7168
1027
7412
1443
7048
745¢
743¢
74982

1 PALLA vidl J~DEC~ED

/RTR TEST 9
CLA
ClL
TAD K1lU@w
RTR
TAD K7977
CMaA
SNA
SEL
LT

/RTR TEST 190
CLa
cLL
TAD K24p2
RTR
TAD K7077
CMA
SNA
SEL
HLT

/RTR TEST 11
cLa
CLlL
TAD Ki2ew
RTR
TAD K7737
CMaA
SNA
SEL
ML T

/RT3 TESY 12
CLA
CLL
TAD KP1@2
RTR
TAD K7757
cHMA
SNA
SEL
HLT

P27 PAGE 27

/ROTATE PATTERN

/RTR FAJLED AL AND LINK
/SHOULD EQUAL 2@dY

/ROTAATE PATTERN

/RTR FAILED AC AND LINK
/SHOULD EQUAL wese

/ROTATE PATTZRN

/RTR FAILED AC AND LINK
/SHOULD EQUAL Pd20ve

/ROTATE PATTERN

/RTR FAILED AC AND LINK
/SHOULD EQUAL @@@d



/INSTRUCTION TESTY =~ 1

1533
1534
153%
1536
1537
1541
1541
1542
1543

1544
1545
1546
1547
1559
1551
1552
1553
1554

1555
1556
1557
1560
1561
1562
1564
1564
1565

1566
1567
1579
1571
1572
15738
1574
1575

7200
7100
1026
7012
1049
7040
7450
7430
7402

7200
7100
1625
7812
1037
7040
7450
7430
7402

7200
7100
1024
7012
1036
704P
7450
7489
7402

73¢8
1928
7012
1035
7040
7450
7430
7482

PALLA  vidl S=DEC=09

/RTR TEST 13
CLA
cLL
TAD K040
RTR
TAD K7767
CMA
SNA
SZL
HLT

/RTR TEST 14
CLA
cLi
TAD KP028
RTR
TAD K7773
CMA
SNA
S|,
HLT

/RTR TEST 15
ClLA
Ll
TAD KBB1D
RTR
TAD K7775
CMA
SNA
SEL
ML T

/RTR TEST 16
CLA CLi
TAD KEWQ4
RTR
TAD K7776
CMA
SNA
SBL
WL T

187 PAGE 28

JROTATE PATTERN

/JRTR FAJLED AC AND LINK
/SHOULD EQUAL ©gue

/ROTATE PATTERN

/RTR FAILED AU AND LINK
/SHOULD EQUAL @@2e

/ROTATE PATTERN

/RTR FAILED AC AND LINK
/SHOULD EQUAL @9

JROTATE PATTERN

/RTR FAILED AC AND LINK
/SHOULD EQUAL 8000



AINSYRLCTION TEST - 1

1576
1577

1634
1ol
1622
1623
1624
162%
16¢6

1627
1612
1611
1612
1613
1614
1615
1616
1617

1620
1621
1622
1623
1624
1625
le26

1627
1639
1631
1632
1633
1634
1635

PALle vidl 3I=0EC=49

~AaP
QP

#1627

/RTR TEST 17
cLaA
CLL
TAD KW@z
RTR
SMA
SN,
HLT

/RTR TEST 18
CLA
cLL
TAD KUVl
RTR
TAD K3777
CHMA
SNA
SZL
HL T

/RAL TEST 1
CLA
CLL
TAD K402
RAL
SEL
SZA
HLT

/RAL TEST 2
CLA
cLi
TAD KDEDD
RAL
SNL
SZA
LT

9127 PAGE 2¢

/ROTATE PATTERN

/RTR FAlLED, AC SHQULD EQUAL
/2382, LINK SHOULD EQUAL ONE

/ROTATE PATTERN

/RTR FAILED, AC AND LINK
/SHOULD BE ZERC

/ROTATE PATTERN

/RAL FAILED, AC SHOULD EQUA{ 200¢
ZLINK SHOULD EQUAL ONE,

/ROTATE PATTERN

/RAL FAILED, AC SHOULD EQUAL PREY
/LINK SHOULD EQUAL ZERQ



ZINSTRYUCTION TEST = 1 PALLA vidy I=DEC=69 91237 PAGE 32

/RA|, TEST 3
1636 7282 tLA
1637  719¢ Chi
1648 7¢2¢ CML
1641 1222 TAD KR290p@ /ROTATE PATTERN, LINKZ]
1642 7204 RAL
1643 7439 SZL
1644 7482 HLT /RAL FALILURE, AC SHOULD EQUAL @021
/LINK SHOULD EQUAL ZERD :
/RAL TEST 4
164% 7223 CLA
1646 7122 - CLL
1647 720 CML
165¢ 1851 TAD K7777 /ROTATE PATTERN, | INK31
16531 7224 RAL :
1652 7¢4¢ CMA
1653 744¢ SEA
1654 7482 HLT /RAL FAILURE, LINK SHOULD EQUAL ONE
/AC SHOULD EQUAL @2gpe
/RAL TEST 5
1655 7220 CLA
1656 7109 cLl
1857 12333 TAD K2veo /ROTATE PATTERN
16623 7024 RAL
1661 1¢59 TAD K$777
1662 7¢40 CMA
1663 7459 SNA
1664 7430 S3|,
1663 7402 HLT /RAL FAJLURE, AGC SHOULD EQUAL upoe
ZLINK SHOULD EQUAL ONE
/RAL TEST 6
1666 7200 CLA
1667 71082 cLbL
1673 1@32 TAD Kivpe /ROTATE PATTERN
1671 7904 RAL
1672 1647 TAD K5777
1673 7040 CMA
1674 7440 S2A
1675 7402 HLT /RAL FAILURE, AC SHOULD EQUAL vewe

/LINK SHOULD EQUAL ZERO



JINBTRUCTION TEST = 1 PaL12 vial S=DELC~LP 9327 PAGE 31

/RAL TEST 7
1676 722¢ CLaA
1677 7142 CLL
1720 1281 TAD KU4Py /RQTATE PATTERN
1721 7204 RAL
17742 1046 TAD K8777
1728 72482 CHA
1774 7459 SNA
1725 7430 SEL v
1726 7482 ALT /RAL FAILURE, AC SHOULD EGUAL 0BR2
/L INK SHOULD EOUAL ZERO .
/RAL TEST 8
1727 7480 CLA
1712 7402¢ cLL
1711 1232 TAD KB229 /ROTATE PATTERN
1712 7094 RAL
1713 1445 TAD K7877
1714 70492 CMA
1715 7452 SNA
1716 743D SE, /RAL FATLURE AC SHOULD EQUAL Beépb
1717 7482 HLT /LINK SHOULD EQUAL ZERD ‘
/RAL TEST 9
172¢  729%¢ CLA
4721 7129 CLL
1722 1927 TAD K©1Dd /ROTATE PATTERN
17238 7¢04 RAL
3724 1044 TAD K7577
1725 7240 CMA
1726 749y SNA
3727 7438 S3L /R4&L FATLURE AC SHOULD EQUAL 29000

1732 7422 HLT ZLINK SHOULD EQUAL ZERD



/INSTRUCTION TESTY =~ 1 PALLE vi4l 3=DEC=69 137 PAGE 32

/RAL TEST 1¢

1731 72ue CLA
1732 7142 cLl
1733 1226 TAD KiéR4Q /RQTATE PAYTERN
1734 7404 RAL
173> 144$ TAD K/077
1736 7242 CMA
1737  745¢ SNA
1742 7832 SE| /RAL FAILURE AC SHOULD EQUAL Q009
1741 7422 HLT ZLINK SHOULD EQUAL A ZERC

/RAL TEST 11 ‘
1742 72¢38 CLA
1743 71¢é¢ CLL
1744 1025 TAD K@E29 /ROTATE PATTERN
1745 744 RAL
1746 19042 TAD K7737
1747 7942 CMA
17528  745¢ SNA
1751 7438% SZ| /RAL FAILURE AC SHOULD EQUAL ©Dp@®
1752 7442 HLT /LINK SHOULD EQUAL A ZEROD

/RAL TEST 12
1753 7202 CLA
17%4 7122 cLL
1755 1424 TAD Kéb1o /RQTATE PATTTERN
1756 7£@4 RAL
1757 1841 TAD K7757
1768 7242 CMA
1761  745& SNA
1762 7432 SZL /RAL FAILURE AC SHOULD EGUAL 0009

1763 7482 HLT /LINK SHOULD EQUAL A ZERD
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PALLS vidl

/RAL TEST 18
CLa
cLiL
TAD KudZ4
RAL
TAD K7767
CMA
SNA
SZL
HLT
NP
NQOP
NOP
sV AN
/RAL TEST 14
ClLa
Chi.
TAD KEWVR2
RAL
TAD K7773
CMA
SNA
SEL
HLT
/RAL TEST 15
ClLa
CLL
TAD K¥pl
RAL
TAD K7775
CHA
SNA
SEL
LT
/RAL TEST 16
CLA -
cLi
CML
RAL
TAD K7776
CMA
SNA
SEL
HLT

3-DEC=t.

0

147 PAGE 33

/ROTATE PATTERN

/RAL FAILED aC SHOUWLD EGUA| ¢0¢0
ZLINK SHOULD BQUAL A ZERO

/ROTATE PATTERN

/RAL FALLED AC SHOULD EQUAJ 20@9
/LINK SHOULD EQUAL A EBERD

/ROTATE PATTERN

/RAL FATLED AC SHOULD EQUAL 2228
/LIVK SHOULD EGUAL ZERO

JRAL FAILED AG SHOULD EQUAL 20¢P
/LINK SHOULD EGUAL ZERO



/INSTRUCTION TESTY - 1

2238
2234
2035
2036
2037
20489

2041
2042
2043
2044
2045
2046

2047
2950
2951
2052
2p53
20854

205%
2956
2057
2060
2061
2062
2063

7200
7100
1933
7006
7420
7402

7202
7100
162¢
7006
7449
7402

7208
7120
1020
7006
7430
7482

7200
7160
7420
1820
7006
7430
7402

PALL? vial 3=0EL=69

/RTL TEST 1
CLa
CLL
TAD K222
KT
SNL
HLT

/RTL TEST 2
CLA
CLL
TAD K002#
RTL
SZa
HLT

/RTL TEST 3
CLA
cLi
TAD KoRge
RTL
SEL
HLT

/RTL TEST 4
CLA
cLL
CML
TAD X02922
RTL
S2L,
HLT

9127 PAGE 34

/RTL LINK DROPPED & BIT
/LINK SHOULD EQUAL A ONE

FROTATE PATTERN

/RTL AC PICKEUL UP A BIT
/A ONE IN AC EQUALS THE PICKED WP

/ROTATE PATTERN
/RYL LINK PICKED UP A BIT
/LINK SHQULD EQUAL ZERD

/ROTATE PATTERN

/RTL FAILURE, LINK PIGKED UP A BIT
/LINK SHOULD EQUAL A ZERD



/INSTRUCTION TEST =

2764
2869
2766
267
287¢
2271
2672
2e73

2374
2¢7%
- 2076
2a77
2128
2121
2142
2133
2124

2125
2106
2127
2110
2111
2112
2113

2114
211°
2116
2117
2120
2121
2122
2123
2124

7200
7100
7020
1051
7006
7042
7442
7402

7207
7100

1834

7606
1035
7048
7450
7430
7402

7200
7100
1833
7006
7450
7420
7402

72080
7100
1432
7006
1250
7¢4v
7450
7430
7402

4
e

PALLZ

/RTL

/RTL

/RTL

/RTL

vidal

TEST 3
LA
cLL
CML
TAD
RTL
CHMA
SZA
HLT

TEST 6
CLA
CLiL
TAD
RY(
TAD
CMa
SNA
S2L
HL T

TEST 7
CLA
CLL
TAD
RTL.
SN&
SNL
HLT

TEST &
cla
CLL
TAD
RTL
TAD
CMA
SNA
SEL
RLT

K7777

K2839

Kloge

K3777

F127 PAGE 35

/ROTATE PATTERN
/RTL FAILURE, ORQPPED A BIT

/ROTATE PATTERN

/RTL, FAILED AG AND LINK SHOULD EQUAL 022
/ROTATE PATTERN

/RTL FAILED AC AND LINK SHOULD
/EQUAL duep

/ROTATE PATTERN

/RTL FAILED AC AND LINK SHOULD
/EQUAL 2009



/INSTRUCTION TEST = 1 PALLe vidl 3=DEC=69 9127 PAGE 36

/RT_ TEST 9

2125 720y CLA
2126 71920 Cbil

2127 1934 TAD Ke4ga JROTATE PATTERN

213h 7006 RTL

2131 1047 TAD K2777

2132 7049 CMA

2133 745¢ SNA

2134 7439 SEL

2135 7402 LT /RTL, FAILED AC AND LINK SHOULD

/EQUAL ZERO
‘ FRTL TEST 10
2136 7200 CLa

2137 71080 CLiL

2140 1030 TAD Kb2po /ROTATE PATTERN

2141 7006 RTL

2142 1046 TAD K6777

2143 74 CMA

2144 7400 SNA

2145 7430 S2,

2146 7482 LT /RTL FAILED AG AND LINK SHOULD

/EQUAL 0200
/RYL TEST 1}

2147 7200 CLA

2150 7160 cli

2151 1027 TAD K@ig2 /ROTATE PATTERN

2152 7€06 RTL

2153 1945 TAD K7877

2154 7040 CMA

2155 7450 SNA

2156 7430 S2|

2157 74wz HLT , /RT| FAILEQ AT AND LINK SHOULD

/EQUAL, Q@22
/RTL TEST 12

2169 7200 CLA

2161 7108 Cli

2162 1026 TAD Ki#40 /ROTATE PATTERN

2168 7006 RTL

2164 1044 TAD K7377

216% 7040 CMA

2366 7450 SNA

2167 7430 SEL

2170 7482 HLT /RTL FAILED AC AND LINK SHOULD

/EQUAL @080



ZINSTRUCTION TEST = 1

2171
2172
2173
2174
2175
2176
2177

2290
2291
2222
2zed
2224
220°%
2206
227
22149

2211
2212
2214
2215
2216
2217
2220
2221

2222
2223
2224
2225
2226
2227
2238
2231
2232

2233
2234
223%
2236
2237
2244
2241
2242
2243

7006
7022
7202
7¢02
7008
7000
7008
2200

7200
710¢
1925
7806
1243
7648
7459
7430
7402

72880
7i8@e
1924
7806
1042
7042
7450
7430
7482
7200
7100
1623
7486
1041
7040
7458
7432
74902

7200
71009
1e22
7006
1242
7¢ad
7458
7432
7402

PaLlé Vi4l

NQOP
NQP
wQP
NOP
NQP
NOR
NOP

82282

/RT_ TEST 13
CLa
CLbL
TAD
RTL
TAD
CMA
SNA
SZL
HLT

/RYL TEST 14
CLA
cLL
TAD
RTL
TAD
CMA
SNA
SEL
HLT

/RTL TEST 15
CLa
cLL
TAD
RTL
TAD
CMA
SNA
SZL
=LT

/RTL TEST 16
CLA
CLL
TAD
RTL
TAD
CMA
SNA
SEL
ALY

3-DEC=66

Kbo20

K7677

Kp©v1e
K7737

K004
K7757

9127 PAGE 37

/ROTATE PATTERN

/RTL FAILED AU AND LINK
/EQUAL 2202

/ROTATE PATTERN

/RTL FAILED AC AND LINK

/ROTATE PATTERN

/RTL FAILED AC AND LINK
/EQUAL ©2oBe

/ROTATE PATTERN

/RTL FAILED AU AND LINK
/SHOULD EQUAL @B@Y

SHOULD

SHOULO

SHOULD



/INSTRUCTION TEST =~ 1 PALL12 vidl 3=DEC=69 9127 PAGE 38

JRT, TEST 17

2244 7200 CLA

224% 7100 CLL

2246 102} TAD Kibvpl /ROTATE PAYTERN
2247 7006 RTL

2280 19037 TAD K7773

2251 7440 CMA

2252 7450 SNA

2253 7430 SEL

2254 7402 LT /RTL FAILED AC AND LINK

/SHOULD EQUAL PBOD
/RTL TEST L8

2255 7209 CLA

2256 74900 CLL

2257 7020 CML

2260 7006 RTL

2261 1036 TAD K7775

2262 7042 CMA

2263 7450 SNA

2264 7430 SZ|

2265 7412 HLT /RTL FAILED AG AND LINK

/SHOULD EQGUAL 2020



ZINSTR,CYION TESTY = L

22566
22617
227¢
2273
2272
2273
2274
2275

2276
2277
2340
23al
2322
23¢3

2324
23¢9
2326
2337
2319
2311
2312

2313
2314
2312
2316
2317
2329
2321
2322
2323

7283
7100
7242
7220
752¢
7422
7442
7482

7208
1853
7242
7049
7449
7482

7200
7109
7d4p
7142
7420
7342
7482

7100
7228
7208
7240
7340
7042
7420
7442
74022

PaLL v1i4l

/GROUP 1 OPE
CLA
cLL
CMA
CML
CLaA
SN
SZA
HLT

/GRQUF 1 OPE
CLA
TAD
CLaA
CMA
SZA
HLT

/GROUP 1 OPE
CLA
Lt
CMA
cli
SNL
SZA
HL T

3-DEC-69

RATE TEST 1

CLL

RATE TEST 2

K2525
CMA

RATE TEST 3

CMA

/GROUP 1 OPERATE TEST 4

CLL
CML
CLA
CMA
CLA
CHMA
SN,
SZA
LT

CMA CLL

91087 PAGE 39

/CLEAR AC

/CLEAR LINK

/AC EQUALS 7777
/LINK EQUALS ONE
/TEST COMBINATION

/CLA CLL FAILED, LINK SHOULD BE ©
/AC SHOULD EGUAL 2082 :

/AC EQUALS 02¢E

/AC EQUALS 2525
/TEST COMBINATION

/CLA CMA ERROR, AC SHOULD
/BE 2008

/AGE7777 LINK®L
/TEST COMBINATION

/GLL CMA FAILED, AC AND LINK
/SHOULD BE ZERQ
/LINKEY

/AC37777
/TEST COMBINATION

/CLA CMA CLL FAILED., AC AND
JLINK SHOULD BE ZERO



*INSTRUCTION TEST = 1

2324
2323
2326
2327
233¢
2331
2332

2333
2334
2335
23368
2337

2349
2341
2342
2349

2344
2345
2346
2347
235¢
2351

2352
2358
2354
2355
2356

7200
7100
7040
7220
7480
7442
74022

7100
7620
7420
7420
7402

7100
712¢
7420
74¢2

7120
7240
7320
7430

7340

7402

7542
7320
7430
7440
7402

PALLY

/GROUP

/GROUP

/GROUP

/GROUP

/GRQUP

vial 3=DEC~-&9

1 OPERATE TEST 5
CLa

CLb

CMA

CLA CML

S2|,

SZA

HLT

1 OPERATE TEST 6
CLL

ML

CLL CML

SNL

HLT

1 OPERATE TEST 7
Ly

CLL CML

SNL

HLT

1 OPERATE TESY 8
CLL CML

CLA CHMA

CLA CLL CML

SE|,

SZA

HLT

1 OPERATE TEST 9
CLA CLL CMA

CLA CLL CML

SZL

SZA

HLT

9127 PAGE 49

/LINKED
FAC=7777
¢/TEST COMBINATION

/CLA CML FAILED, AC SHOULD EQUAL
/0883, LINK SHOULD BE A ONE

/LINK®Y
/TEST COMBINATION

/CLL CML FAILED
/LINK SHOULD BE A ONE

/LINK®E
/TEST COMBINATION

/GLL CML FAILED,
ZLINK SHOULD BE A ONE

/L INK=1
/AC=7777
/TEST COMBINATION

/CLA CLL CML FAILED, LINK SHOULD
/BE 1, AC SHOULD BE ZERO
/LINKBB, AC=7777

/TEST COMBINATION

/CLA CLL CML FAILED, LINK SHOULD
/BE 19 AC SHOULD BE ZERQ



AINSTRLOTLION TEST + 1

2357
2364
2361
236
2363

2364
2363
2366
2387
2374
2374
2372

2373
2374
2372
2376
2377

2442
241
24+2
2473
2424
2475
2426
24¢7

2419
2411
2412
2418
2414
2415
2416

7340
7460
7436
7440
7442

7800
1253
7342
70489
7420
7440
7402

7080
7009
7009
7200
7400
2408

7308
1053
7160
1853
714
7430
7440
7422

7800
7020
7160
7048
74359
7449
7402

PALLY vidl

/GROUF 1 QPE
CLA
CMA
SEL
SZA
HLT

/GROUP 1 QPE
Cla
TAQ
ChaA
CMa
SNL
SZA
HLT

NOP
NOP
NOP
NOP
NOP

#2429

/GRQUP 1 OPE
cLL
TAD
cll
TAD
CMA
SEL,
SZa
HLT

/GROUF 1 QPE
CLA
cML
CLL
CMA
S22
SZ4A
HLT

3=0EC=69

RATE TEST 12
CLL CHaA
CML

RATE TEST 11
CLL

K252%5

CM& CLL

RATE TEST 12
CLA

K252%

CMA CM|,
K2925

RATE TEST 13
CLth

CMA My

9187 PAGE 41

/ACz7777, | INKED
/TEST COMBINATION

/CMA CML FAILED, AC SHOULD 8E
/78280 LINK SHOULD EQUAL ONE,

/AC aND L ]NK=Y
/ACE2525
/TEST COMBINATION

/CLA CMA CML FAILED, AC SHOULD Bt
/@08, LINK SHOULD EQUAL ZERO

/AC AND LINKaY
/AC=2225
/TEST COMBINATION

/CLL CMA CML FAILED, AC SHOULD BE
/0848, LINK SROULD EQUAL ONE

/AC=0020, [INKs1
/TEST COMBINATION

/CLL CMA CM{ FAILED, AC SHOULD
/BE g¥@e, LINK SHOULD BE ONE



FINSTRUCTION TEST » 2 PALLE vidl 3=DEC=69 9187 PAGE 42

/GRQUP 1 OPERATE TEST 14

2417 7309 CLA CLL

2420 1053 TAD K225 /AC=22925, LINK=z@

2421 7360 CLA CLL CMA CML /TEST COMBINATION

2422 7040 CMA

2423 7430 SZ|

2424 7349 SEA

2425 7402 HLT /CLA CLL GMA CML FAILED, AC SHOULD

/BE @¥8Y LINK SHOULD EQUAL ONE,
/GROUP L OPERATE TEST 15

2426 73520 ClLA CLL CML

2427 1652 TAD K92%52 /AC85252, | INKE1

2439 7360 CLA CLL CMA CML /TEST COMBINATION

2434 70402 CMA

2432 7430 S2(,

2438 7440 SZA

2434 7402 ML T /CLA CLL CMA CML FAILED, AC SHOULD

/BE #82, LINK SHOULD EQUAL ONE
/GROUP 1 OPERATE TEST 16

2435 7200 CLA
2436 1053 TAD K2525 /ACz2525
2437 7201 ClLA TAC /TEST COMBINATION
2440 1035 TAD K7776
2441 7040 CMA
2442 7440 SZA
2448 7402 HLT /CLA TAC FAILED
/AC SHOULD EQUAL 2000
/GROUP 1 OPERATE TEST 17
2444 7320 CLL CML CLA )
2445 1035 TAD K7776 /AC37776, LINKSL
2446 7101 Chl IAC /TEST COMBINATION
2447 7040 CMA
2450 7420 SNL
2451 74490 SZA
2452 7402 HLT /CLL 1AGC FAILED, AC AND LINK

/SHOULD EQUAL #ERO



ZINSTRUCTION TEST = 1

2453
2454
2453
2456
24587
2460
24613
2462

2463
2464
246%
2466
2467

2472
2471
2472
2473
2474
2479

2476
2477
25048
25Ul
2%5ee
2523
25¢4

2519
2526
2527
2519
2511
25412

7420
1453
73801
1435
7242
7420
744@
7432

7300
7841
7432
7440
7402

7320
1453
7241
7432
7440
7402

7328
1821
7141
72040
7420
7440
7402

7820
1353
7341
7430
7440
7422

PAL1QD

/GRQUP

/GROUP

/GROUP

/GROUP

/GRQUP

vi41  3=DEC=-69

1 QPERATE TEST 18
CLA CLL CML

TAD K2525

cLA CLL 1AC

TAD K7776

GMA

SNL

SZA

HLT

1 OPERATE TEST 19
CLA CLL

CMA JAC

SZl,

SZA

HLT

1 OPERATE TEST 20
CLA CLi

TAQ KZ225

CLA CMA TAC

SZL

SZA

HLT

1 OPERATE TEST 21
CLlL CLA CML

TAD K@@a1

CLL CMA [AC

CMA

SNL

SEA

HLT

1 QPERATE TEST 22
CLA CLl, CM{

TAD K2%25

CLA CLL CMA TAC
SZL

S2A

RLT

9127 PAGE 43

/ACE22525 LINKEY
/TEST COMBINATION

/CLA CLL 1AC FAILED, AC AND LINK
/SHOULD BE ZERQ

/AC=2 [ INK=D
/TEST COMBINATION

/CMA JAC FAILED, AC SHOULD EQUAL
/020¢, LINK SHOULD EQUAL ONE

/AC=2925 LINK3D
/TEST comMBINATION

/CLA CMA IAC FAILED, AC SHOULD
/EQUAL 8282, LINK SHOULD BE ONE,

/AC=2820 [INK®L
JACERERY
/TEST COMBINAT]ON

/CLL CMA JAC FAILED, AC SHOULD BE
/2282 | INK SHOULD BE 2

/AC=2925 | [NK=}l
/TEST COMBINATION

/CLA CLL CMA JAC FAILED, AC SHOULD BE
/2302, LINK SHOULD BE OnNE



INSTRUCTION TEST = 1

2513
2514
251%
2516
2517
2520

2521
2822
2523
2524
25253
2526
2527

2530
2531
2532
2533
2534
2535
2536

2537
2544
2541
2542
2543
2544
2545
2546

2547
2550
2551
2552
2553
2554
2555

7380
1052
7341
7434
7440
7402

7300
1835
7021
740408
7430
7449
7402

7820
1035
7021
7040
7420
7440
7422

7500
1053
7221
1035
7049
7430
7449
7402

7520
1835
7121
7040
7430
7440

7492

PALLY

/GRQUP

/GROUP

/GRQUP

/GRQUP

/GROUP

vidl S=DEC=69 9137 PAGE 44

1 OPERATE TEST 23

CLA CLL

TAD Kb252 /AC35252 L INK=@

CLA CLL CMA AC /TEST COMBINATION

SEL

SZA

HLT /CLA CLL CMA JAC FAILED AC SHOULD

/BE 2ee@, LINK SHOULD BE ONE
1 OPERATE TEST 24
clLA CLL
TAD K7776 _ /ACaT776 LINK=D
CHML lAC /TEST COMBINATION
CMA .
SZL
SZA
WL T /CML 1AC FAILED AC SHOULD BE
/2200, LINK SHOULD BE ONE
1 OPERATE TEST 25
CLA CLL CML :
TAD K777¢ /AC w7776 LINKSL
cML 1AC /TEST COMBINATIION
CMA
SN|,
S5ZA
HLT /CML JAC FAILED, AC SHOULD BE
/9002, LINK SHOULD BE ZERO
1 OPERATE TEST 26

CLA CLL ’

TAD K2d25 /ACE2225 [ [NK=O

GLA CML [AC /TEST COMBINATION

TAD K7776

CMA

S2L

SZ4A

HLT /CLA CML [AC FAILED, AC SHOULD BE

/03008, LINK SHOULD EQUAL ONE

1 OPERATE TEST 27

CLA CLL CHML /AC=B0DD | INKE}

TAD K7776 /47776

CLL CML 1AC /TEST COMBINATION

CMA

SZL

SZA v »

ALT /CLL CML IAC FAILURE, AC SHOULD BE

/0e0@, | INK SHOULD EGUAL ONE,



7INSTRUCTION TEST = 4

2536
2557
2569
2561
2562
2563
2564

2569
2566
2567
2572
2571
2572
2573
2574

257%
2576
2577

LY.L
2521
2622
2623
2604
2605
2626
2807

7308
10583
7121
7049
7430
7440
7402

73290
1253
7321
1235
7040
7430
7440
7402

7090
7000
7000
2600

7320
1453
7321
1235
7040
7432
7440
7402

PRLLA vidal FJ~DEC=069 9137 PAGE 4%

/GRQUP L OPERATE TLST 28

CLA CLL

TAD K7776 /ACE7776 LINKE=D

CLL CML AC /TEST COMBINATION

CMA

SEL

SZA

LT /CLL CML [AC FAILED, AC SHOULD
/BE 20@@¢, LINK SHOULD BE ONE
/GROUP 1 QPERATE T@ST 29 ' :

cLa CLL

TAD K292% /ACE2525, LINKeR

CLA CLL CML JAC /TEST COMBINAT]ON

TAD K7776

CMA

SEL

SEA

LT /CLA CLL CML [AC FAILED, AC SHOULD

/BE 290@, LINK SHOULD BE ONE

NOP

NQP

NOPR
026202
/GRQUP 1 OPERATE TEST 32

CLA CLL CML

TAD KZ»25 /AGCE2225 [ INK=1

CLa CLL CML IAC /TEST COMBINATION

TAD K7776

CMA

82

SEA .

LT /CLA CLL CML [AC FAILED, AQ;SHOULD

/8E 2029, .LINK SHOULD BE ONE



FINSTRUCTION TEST = 1

261¢
2611
2612
2613
2614
2615
2616

2617
2620
2621
2622
2623
2624
2625

2626
2627
2630
2631
2632
2633

- 2634
2635
2636
2637
2649
2641

734%
1821
7661
7049
7432
7448
7302

7520
1021
7061
7049
7420
7449
7402

73092
1053
7261,
7420
7450
7402

7320
1453
7263
7430
7440
7442

PALL4  viel J=DEC=6Y 9107 PAGE 46

/GROUP 1 OPERATE TEST 33
CLa CLL
TAD KP&@1 /AC=GR22L L INKSE
CMa CML 1AC /TEST COMBINATION
CHA
SE|
SEZA
HLT /CMA CML 1AC FAJLED, AC SHOULD
/BE 2292, LINK SHOULD BE ONE
/GROUP L QOPERATE TEST 342
Cla CLL CML
TAD K@B@1 /ACE00R1 | INKsY
CMA CML [AC /TEST COMBINAT]ON
CMA .
S|,
SZA
HLT /CMA CML 1AC FAILURE, AC SHOULD BE
/0902, LINK SHOULD BE ZEROQ
/GROUP 1 OPERATE TEST 33

CLA CLL /ACE0RR2 | INKSE

TAD K2525 /ACE2525

CLA CMA CML 1AC /TEST COMBINATION

SNL

SZL

4L T /CLA CMA GML IAC FAILED, AC SHOULD

/BE 2002, LINK SHOULD BE ZERO
/GROUP 1 OPERATE TEST 34

CLA CLL CML

TAD K29225 /AC=2525 [ INK=§

CLA CMA CM|, JAC /TEST COMBINATION

SE|,

SEA

HLT /CLA CMA CML JAC FAILED, AC SHOULD

/BE 2202, LINK SMOULD BE ONE



ZINSTRUCTION TEST = &

2642
2643
2644
26495
2446
2647
265

2651
2652
2653
2654
2655
2656
2657

2664
2661
2662
26438
2664
2665

2666
2667
267¢
2671
2672
2678
2674

730¢
1821
7161
Tk
74382
74432
7422

7820
1024
7161
7042
7438
7440
7482

7309
1253
7361
7422
744y
7422

7362
7219
1¢59
7042
7420
7442
7302

PaLLld

/GRQUP

/GROQUP

/GROUP

/GROUP

vi4l $=DEC=09 9427 PAGE 47

1 OPERATE TEST $5
CLA CLL

TAD KU€21 /ACE2@21 | INK3D
CLL CMA CML 1AC /TEST COMBINATION

CMA

SZL

SZA

HLT /CLL CMA CML JAC FAILED, AC SHOULD BE

/2228, LINK SHOULD BE ONE

1 OPERATE TEST 36

CLA CLL CML

TAD KBEQ1 /ACE2021 | INKsY

CLL CMA CML 1AC /TEST COMBINATION

CHA

SZL

SZA

HLT /CLL CMA CML [AC FAJLED, AC SHOULD BE

/%238, LINK SHOULD BE ONE
1 OPERATE TEST 37

CLA CLL
TAQ K2525 /AC=2025 LINKel
ghA Cl.l CMA CML IAC /TEST COMBINATION
L
SZA
ALT /CLA CLL CMA CML TAC FAJLURE AC AND

/LINK SHOULD EQUAL ZERO

1 OPERATE TEST 38

CLA CMA CLL CML /AC37777 [INK®Y

CLA RAR /TEST COMBINATJON

TAD K$777

CMA

SNL

SEA

HLT /CLA RAR FAILED, LINK AND
/AC SHOULOD EQUAL ZERC



/INSTRUCTION TEST = 1 PALLD visl 3=DECwE9 9127 PAGE 48

/GROUP 1 OPERATE TEST 89

2675 7362 CLA CMA CLL CML /AC=7777 LINK®L

2676 7244 CLA RAL /TEST COMBINATION

2677 19035 TAD K7776

2720 79492 CMA

2734 7420 SN,

2762 7440 SEA

2783 7402 MLT /CLA RAL FAILED LINK AND

/AC SHOULD EQUAL ZERO
/GRQUF 1 QPERATE TEST 4@

2704 7360 CLA CMA CLL CML /ACE7777 [INK 31

2705 7212 CLa RTR /TEST COMBINATION

2706 1947 TAD KB777

2707 7040 CMA

2718 7420 SNL

2711 7440 SZA

2712 7402 NLT /CLA RTR FAILED, AC AND

/LINK SHOULD BE ZERO
/GROUF 1 QPERATE TEST 431

2713 7468 CLA CMA CLL CML /AC=7777, [ InKs1

2714 7286 CLA RT, /TEST COMBINATION

2715 1236 TAD K7775

2716 704D CMA

2717 7420 SN

2720 7440 SZA

27231 7402 HLT /CLA RTL FAILED, AC AND (INK

/SHQULDBE ZERQ
/GROUP 1 OPERATE TEST 42

2722 73209 CLA CLL CML
2723 1026 TAD K6U40O /ACERE4R | INK®]

2724 7110 CLL RAR /TEST COMBINATION

2725 1041 TAD K7757

2726 7442 CMA

2727 7420 SNL

2730 7449 SZA

2731 7402 HLT /CLL RAR FAILED, AC AND LINK

/SHOULD BE ZERO
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/GROJP 1 OPERATE TEST 43

2732 732¢ CLA CLL CML

2733 1k26 TAD KP@@42 /ACs¢0423 LINKE]

2734 7124 cLL RAL /TEST COMBINATION

2735 143 TAD K/877

2736 7¢42 CMA

2737 7420 SNL

2749 744¢ SZA

2741 7402 ML T /CLL RAL FAILED, AC AND LINK

/SHOULD BE EEROQ
/GROUP 1 OPERATE TEST 44

2742 7320 CLA CLL CML

2743 1826 TAD K@242 /AhCs2040 | INK34

2744 7112 CLL RTR /TEST COMBINATION

2745 1¢4e TAD K7767

2746 7240 CMA

2747 7420 SN,

2750 7440 SZA

2751 74P2 HLT /CLL RTR FALLED, AC AND LINK

/SHOULD BE ZERO
/GROUP 1 OPERATE TEST 45

2752 7328 CLa CLL CML

2753 1026 TAD Kuvd4d /ACE2042 [INK=Y

2754 71e6 CLl RTL /TEST COMBINATION

2759 1044 TAD K7577

2756 7@4¢ CMA

2757 7420 SNL,

2760 7440 SZA :
2761 7482 HLT /CLL RTL FAILED, AC AND LINK

/SHOULD BE ZERD
/GROUP | OPERATE TEST 46

2762 7340 CLA CLL CML CMA /AC=7777 LINK2

2763 7410 CLL CLA RAR /TEST COMBINATION

2764 7420 SNL

2765 7448 SZA

2766 7422 HLT /CLL CLA RAR FAILED AC AND

/LINK SHOULD BE ZERQ
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2767
277¢
2774
2772
2774

2774
2775
2776
2777

3Ip20
3@zl
3pae
323
384

305
3036
3pa7
3@1¢
3211

3a12
3013
3714
3015
3016
$017
3p20

7868
75¢4
7422
743
7422

7022
700¢
7eoe
7082
\PIT

7362
7312
7422
744¢
7402

7360
7306
7429
7443
7412

7309
7830
10259
7641
7422
7440
7402

PALLS vial ImDEC=69 9137 PAGE 54

/GRQUP 1 QPERATE TEST 47
CLA CMA CLL CML /AC=7777 Link=L
CLL CLA RAL /TEST COMBINATION
SN
SZL
HLT /CLL CLA RAL FAILED., AC AND
/LINK SHOULD BE ZERO
NOP
NOP
NQP
NQP
«3090
/GRQUP 1 QPERATE TEST 48

CLA CMA CLL CML /ACE7777 LINK=Y

ClA CLL RTR /TEST COMBINAT]ON

SNL

SZA

HLT /CLA CLL RTL FAILED, AC AND

/LINK SHOULD BE ZEROQ
/GRQUP 1 OPERATE TEST 49
CLA CMA CLL CML /ACE7777 [ INK=L
CLA CLL RTL /TEST COMBINATON

SN,
SEA
HLT /CLA CLL RTL FAILED, AC AND

/LINK SHOULD EQUAL ZERQ
/GROUP 1 OPERATE TEST 5p

CLA CLb /ACICURO [ INKED

CML RAR /TEST COMBINATION

TAD K777

CMA

SNL

SEA

HLT /CML RAR FAILED, AC AND {INK
/SHOULD BE ZERQ
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3g21
3é22
3223
3224
3z2%
3226
3a27

3232
3231
3332
3233
3334
3235
3236

3237
324¢
3241

Jiza2 .

343
3z44
IzaB

3246
3pa7
3Bs5e
KBS
3Ins2
3353
3pse
3pss

73¢0
7424
1435
704¢
7820
7440
7402

7329
7032
1247
7040
7420
7440
7402

7322
7626
1236
7842
7420
744¢
7422

7520
1¥52
7230
1259
7249
7429
7449
7402

< PALLY vidl SeUECw69 127 PAGE 51
/GRQUP § OPERATE TEST 51
cLa CLL FACSO0BY [ INK 3@
CML RAL /TEST COMBINAT]ON
TAD XK7776
CMA
SN
SZA
kLT /CML RAL FAILED, AC AND
/SHQULD BE ZERO,
/GROUP 1 OPERATE TEST 52
CLA CLL /ACa0RP0@ | [NK®0
CML RTR /TEST COMBINATION
TAD KB777
CHMA
SN{,
SZA
HLT /CHML RTR FAILED, AC AND
/SHOULD EQUAL EERD
/GROUP | OPERATE TEST 53
CLA CLL /AC332008 | INKE*E
CML RTL /TEST COMBINATION
TAD K7775
CMA
SNL
SEA
HLT /CML RTL FAILED, AC AND
/SHQULD EQUAL ZERO
/GROUP 1 OPERATE TEST 54
CLA CLL
TAD K92252 /AC35252 [ INK=Q
ClLA CML RAR /TEST COMBINATION
TAD K3777
CcHMa
SN,
SZA
HLT /CLA CML RAR FAILED, AC

PAUSE

CINK

L INK

LINK

AND |
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3956
3057
3060
3e6l
3e62
3063
3g64
3365

3766
3267
3872
3p71
3g72
373
3274
3275

3276
3277
318¢
3121
3122
3189
3104
3125

31156
317
3110
3111
3112
311¢

7300
1252
7224
1085
7240
7420
7443
T442

7300
1052
7232
1047
7040
7420
7440
7402

7300
1452
7228
1036
7049
7420
7440
7402

7300
7130
7004
7430
7440
7402

PALlY
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/INSTRUCTION TEST = 1
/GROUP 1 QPERATE TEST 55

/TAPE 3

SLA CLL

TAD K52%2 /ACRE252 | INK=8

CLA CML RAL /TEST COMBINAT]ON

TAD K7776

CMA

SNL

SZA

HLT /CLA CML RAL FALED, AC AND
/LINK SHOULD BE ZERD

/GROUP 1 OPERATE TEST 56

cLA CLL

TAD KH252 /ACR52852 L INK=@

GLA CML RTR /TEST COMBINATION

TAD K®777

CMA

SN,

SZA

HLT /CLA CML RYR FAILED, AC AND
/LINK SHOULD BE ZERO

/GROUP 1 OPERATE TEST 57

CLA CLi

TAD K5252 /ACs5252 LINK=Q

CLA CML RTL /TEST COMBINATION

TAD K777%

CMA

SN,

SZA

WLT /CLA CML RTL FAILED, AC AND
/LINK SHOULD EQUAL ZERO

/GROUP 1 OPERATE TEST 58

CLA CLL JACE2002 L INK=®

CLL CML RAR /TEST COMBINATION

RAL

S2L

S#A

HLT /CLL CML RAR FAILED., AC SHOULD

/BE 0088 LINK SHOULD BE 1
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3114
3115
3116
3117
3120
3121

3122
3123
Ji24
3125
3126
3127

3132
J131
3132
3433
3134
3135

3136
3137
J149
3141
3142
3143

7322
7132
7004
7430
7442
7422

7329
7124
7818
7432
7448
7422

732¢
7124
7930
7439
7440
7402

7308
7132
7206
7430
7440
7402

PaLLd vial

S=DEC=69 9187 PAGE 53

/GROUP 1 QPERATE TEST 59

CLA CLbL CmMb /AC=2002 LinkK=g

CLL CML RAR /TEST COMBIwNATION

RAL

SE

S2A

HLT /CLL CML RAR FAILED: AC SHOULD BE
/820%, LINK SHOULD BE A ONE

/GROUP 1 QPERATE TEST 642

CLA CLL FAC320BB | INKYE

CLL CML RAL /TEST COMBINATION

RAR

SEL

SZA

HLT /CLL CML RAL FAILED, AC SHOULD
/EGUAL 00028, LINK SHOULD BE ONE

/GROUP L4 OPERATE TEST o1

CLA CLL CML /ACE@080 L INKSY

CLL CML RAL /TEST COMBINATION

RAR

SE

SZA :

HLT /CLL CML RAL FAILED., AC SHOULD

/EQuUAL 9202, LINK SHOULD BE ONE

/GRQUP L OPERATE TEST 62

CLA CLL 7AC=B008 | [NK=Z

CLL CML RIR /TEST COMBINAT]ON

RYL

SZ|

SZA

HLT /CLL CML RTR FAILED, AC SHOULD

/BE 822, LINK SHOULD BE QNE
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3144
3145
3446
3147
3152
3151

3152
3153
3154
3159
3156
3157

3160
3161
3162
3163
3164
3165

3166
3167
3170
3173
3172
3473
3174

3175
3476
3177

3228
3201
Jare
3203
3224
3225
3226

7520
7332
7006
7430
7440
7402

7300
7126
7012
7430
7440
74¢2

7320
7426
7812
7430
7448
7402

7300
1052
7330
78064
7430
7440
7302

7600
7000
7009
32ee

7320
1053
7830
7024
7430
7840
7402

PALLY
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/GRQUP 1 OPERATE TEST 63

cha CLL CcML /AC=2027 INKR]

CLL CML RTR /TEST COMBINATION

RTL

S|,

SEA

HLT /CLL CML RTR FAILED, AC SHOULD

/BE 2023 LINK SHOULD BE ONE,

/GROUP 1 OPERATE TEST 64

CLA ClLb /ACE0280 L INKZ@

CLL CML RTL /TEST COMBINATION

RTR

SZL

s$Za

HLT /CLL CML RTL FAILED, AC SHQULD

/BE Bv28, LINK SHOULD BE A ONE

/GRQUP L OPERATE TEST 65

CLA CLL CML /AC=20008 | INK®1

CLL CML RTL /7EsT coMBINATION

RTR

S2L

SZA

HLT /CLL CML RTL FAILED, AC SHOULD

/BE 20@8, LINK SHOULD BE A ONE,

/GRQUP 1 ORERATE TEST 66

«3200

CLA Cli

TAD KB52%52 /ACS5252 | INK=D

CLA ClLlL CML RAR /TEST COMBINATION

RAL

SEL

SEA

HLT /CLA CLL CML RAR FAILED, AC SHOULD
/BE @228, LINK SHOULD BE ONE

NOP

NOP

NQP

/GRQUP 1 OPERATE TEST 67

CLA CLL CML

TAD KZ925 /AC32925 | INK=Y

CLA CLL CML RAR /TEST COMBINAT]ION

RAL

S2L

SEA

HLT /CLA CLL CML RAR FAILED, AC SHOULD
/BE 2006, LINK SHOULD BE ONE
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/GROUP 1 OPERATE TEST e8

3207 7860 CLA CLL

3212 1253 TAD K2%25 /AC=2525 L [NKED

3211 7324 CLA CLL CML RAL /TEST COMBINATION

3212 7418 RAR

3213 7432 s2(

3214 7442 SZA

3215 7492 HLT /CLA CLL CML RAL FAILED, AG SHOULD

/BE 2328, LINK SHOULD BE ONE
/GROUP 1 OPERATE TEST ¢9 ‘

3216 732¢ CLA CLL CcML

3217 1252 TAD K5252 /AC®5252 | INK®}

Jo2d 7324 CLA CLL CML RAL /TESY COMBINATION

3221 7018 RAR

3222 7432 SZL

3223 va4p SZA

Jo224 T74¢2 ML T /CLA CLL CM{ RAL FAILED, AC SHOULD

/BE 2820 LINK SHOULD BE A ONE
/GRQUP 1 QPERATE TESY 723

3225 7329 CLA CLL

3226 1853 TAD K2525 /ACB2925 | INKs?

3227 7332 CLA CLL CML RTR /TEST COMBINAT]ON

J23¢ 7496 RTL

I231  743¢C S2(

J232 7442 S2A

3233 7402 HLT /CLA CLL CML RTYR FAILED, AC SHOULD

/BE @oee, [INK SHOULD BE A ONE
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3234
3235
3236
3237
3248
3241
3242

3243
3244
3245
3246
3247
3250
3251

3252
3253
3254
3259
3256
3257
3260

3261
3262
3263
3264
326%
3266
3267
3270

3271
327¢
3273
3274
3275
3276
3277
3320

7820
1052
7832
7006
7430
7440
7402

7300
1053
7326
7912
7430
7440
7402

7420
1852
7326
7012
7430
744p
7402

7300
1051
7044
1635
7640
7420
7449
7402

7300
1635
7843
1036
7040
7420
7440
7402

PALLY

/GRQUP

/GROUP

/GROUP

/GROUP

/GROUP

Vidl S=DECm09. 9127 PAGE 56

4, OPERAYE TEST 71
CLA CLL CML
TAD k5252 /ACRS252 L INK=]L
S%‘ CLL CML RTR /TEST COMBINATION
b
SZ|
52A
HLT /CLA CLL CML RTR FAILED, AC SHOULD
/BE 0280, LINK SHOULD BE A ONE
1 OPERATE TEST 72
CLL CLA
TAD K2525 /AC82525 | INK=2
c%s CLL CML RTL /TEST COMBINATION
R
SZL
SEA
HLT - . /CLA CLL GML HRTL FAILED, AC SHOULD
/BE @020, L INK SHOULD BE A ZERO
1 OPERATE TEST 73
CLL CLA CML
TAD K5252 /ACR5252 | [NKel
gg: CLL CML RTL /TEST COMBINATION
SEL
SZA
HLT /CLA CLL CML KRTL FAILED, AC SHOULD
/BE PBEO, LINK SHOULD BE A ONE
1 OPERATE TEST 74
CLA GLL
TAD K7777 /TEST PATTERN
Cla /AC EQUALS @@0L
TAD K7776
CMA
SNL :
SZA /C1
HLT 761
1 OPERATE TEST 75
CLA CLL
TAD K7776 : /TEST PATTERN
CIA /AC EQUALS 0o@R2
TAD K7775
CMA
SNL
SEA : /CLA FAILED AC SHOULD EQUAL @000
HLT /LINK SHOULD EQUAL A ZERO

AF HOULD EQUAL 0Q02
N Al. A ZERO
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3301
3302
3303
3304
3325
33¢6
3307
3310

3311
3312
3313
3314
3315

3316

3317
3320

3321
3322
3323
3324
332%
3326
3327
3330

3334
3322
3333
3334
3335
3336
3337
3340

7300
1063
7041
1837
7049
7420
7449
7402

7300
1062
7041
1vép
7840
7428
7440
7482

7300
1063
7041
1941
784¢
7420
7440
7402

7300
1062
7044
1042
7040
7420
7440
7402

PaL1e vidl

3=DECw09

/GROQUP L OPERATE TEST 76

CLA
TAD
Cla
TAD
CMA
SNL
SZA
HLT
/GROUP 1 OPE
CLA
TAD
ClA
TAD
CMa
SN
SZA
HLY
/GROUP L OPE
CLA
TAD
cla
TAD
CMA
SN
SZaA
HLT

CLL
K7774

K7778

RATE TEST 77
cLL
K7772

K7767

RATE TEST 78
CLL
K7768

K7757

/GROUP 1 OPERATE TEST 79

CLA
TAD
CIA
TAD
CMa
SNL
SZA
HLT

CLi
K7748

K7737

9187 PAGE 57

/TEST PATTERN
/AC EQUALS pavd

/Cl1A FAILED AC SHOULD EQUAL.
/LINK SHOULD EQUAL ZERO

/TEST PATTERN
/AC EQUALS @812
/ClA FAILED AC SHOULD RQUAL:
/TEST PATTERN
/AC EQUALS P0O29
/CIA FAILED AT SHOULD EQUAL
/LINK SHOULD EQUAL ZERQ
/TEST PATTERN

/AC EQUALS ©UR4R

/ClA FAJLED AC SHQULD EQUAL:
/LINK SHOULD EQUAL ZERO

Pr-TT

20900

I

edve
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3341
3342
3343
3344
3345
3346
3347
3350

3351
3352
3353
3354
3355
3356
3357
3360

3364
3362
3363
3364
3365
3366
3367
Ja7a

7300
1476
7041
1043
7049
7420
744p
7482

7300
1437
7041
1044
7040
7420
7440
7402

7300
1036
7041
1045
7040
7422
7440
7402

PALLO viéi

3mUEC=69 ITL PAGE 58

/GRQUP 1 OPERATE TEST 82

cLA
TAD
Cla
TAD
CMA
SN
SZA
HLT

CLL
K7726@

K7677

/TEST PATTERN
/AC EQUALS 21b9

/ClA FAILED A SHOULD EQUAL poge
/LINK SHOULD EQUAL ZERO

/GROQUF 1 OPERATE TEST &1

cLa
TAD
ClA
TAD
CMA
SNi
SEA
HLT

CLL
K708

K7577

/TEST PATTERN
/AC EQUALS-DB24g

A FAILED AC SHOULD EGUAL 90@22
NK SHOULD EQUAL ZERD

/GROUP { OPERATE TEST 82

CLA
TAD
cla
TAD
CMA
SNL
SZA
HLT

CLi
K7400

K7377

/TEST PATTERN
/AC EQUALS 2400

/C1A FAILED AC SHOULD EQUA{ 2200
/LINK SHOULD EQUAL ZERO
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3374 7eep NOP
3372 7¢0¥ NOP
3373 7420 NQP
3374 722¢ NOP
3375 7008 NOP
3376 7900 NQR
3377 7900¢ NOP
1402 23422
/GROUP 1 OPERATE TEST b3
3428 7300 CLA CLL
3421 1E55 TAD K7¢pg2 /TEST PATTERN
3422 Te43 Cla /AC EQUALS 10u®
3423 1046 TAD K6777
34p4 7040 CMA
3425  742¢ SNL
Y476 7449 SZA

3407 7402 WLT /ClA FAILED AC SHOULD EQUAL #0890
/LINK SHOULD EGUAL ZERQ
/GROUP { OPERATE TEST b4

3418 7300 CLA CLL

3411 1054 TAD K60RQ /TEST PATTERN |

3412 7043 Cla /AC EQUALS 2019

3413 1047 TAD K5777

3414 7040 ChA

3415 7420 SNL

3416 7442 SZA

3417 7402 MLT /CIA FAILED AC SHOULD EQUAL 29060

/LINK SHOULD EGUAL ZERO
/GRQUP { OPERATE TEST &5

3420 7300 CLA CLL

3421 1234 TAD K4922 /TEST PATTERN

3422 7044 Cl4 /AC EQUALS 40@9

3423 1050 TAD K3777

3424 7040 CHA

3425 7428 SNL

3426 7449 SZa :
3427 7402 LT /CIA FALED AC SHOULD EQUUA 222

/LINK SHOULD EQUALL BERD
/GRQUP 1 OPERATE TEST 86

3438 7900 CLA CLi

3431 19020 TAD K¥8ge /TEST PATTERN

3432 7041 Cla /AC EQUALS 2000, LINK EQUALS A ONE
3433 7450 SNA

3434 7429 SN

3435 7402 HLT /CIA FAILED aC SHOULD EQUAL 2ed82

/LINK SHOULD EQUAL A ONE
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3436
3437
3449
3441
3442

3443
3444
3445
3446
3447
3450
3451
3452

3453
3454
3455
3456
3457
3460

3461
3462
3463
3464
3465
3466
3467
3470

3471
3472
3473
3474

7340
7311
7432
7440
7402

7860
7305
7430
7402
7041
ivez
7442
7302

7320
7313
76438
7402
7500
7402

7360
7307
7430
7402
7043,
1023
7440
7482

7300
7331
7820
7402

PALLZ vid41l 3=DEC=69 9107 PAGE 6@

/GRQUF QPERATE TEST 87

CLA CMA CLL /AC=7777,L,88

CLA CiLl IAC RAR /AC=@,L=1

SEL

SZA ‘

HLT /ERRQRY LINC NOT SET OR
/AC NOT @

/GROUP 1 OPERATE TEST 88
CLA CMA CLL CML /ACE7777,|s1
CLA CLi [AC RAL /AC®2,ks2

S2L

ALT ' /ERRORI LINC NOT 8

CMA JAC

TAD K0UR2

SZA

HLT /ERROR AC NOT22
/GROQUP 1 OPERATE. TEST 89

CLA CLL CML /ACE@, =]

CLA CLL JAC RTYR /ACm4Q00,L82

S|

WLt /ERROR} LINC NOT @

SMA

HLT /ERRQRI AC NOT 4u2e
/GROUP 1 OPERATE TEST ¥¢

CLA CMA CLL CML /ACET777,L=1

2%‘ CLL IAC RTL 7ACa4, L INCeD

L

HLT /ERROR} LINC NOT @

CHMA JAC

TAD KE©R4

SZA

ML T /ERRORY AC NOT 4
/GROUP 1 OPERATE TEST 91

CLA CLL /ACEG, (@

CLA CLL CML IAC RAR /ACs40Rd, | =1

SMA SNi

HLT /ERROR} AC NOT 4282 OR

/LINC NOT L
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/GRQUP 1 QPERATE TEST 92

3475 7840 CLA CLL /ACzd, =2
3476 7345 CLA CMA CLL 1AC RAL /AC2RYDL, Lm0
3477 74302 S2L
3580 7422 HLT /LINC NOTaD
35pL 7041 CMA JAC
3522 10231 TAD KOU21
3573 7442 SZA
3504 7492 HLT /AC NOT 2201
/GRQUP 1 QPERATE TEST 93
3585 7366 CLA CMA CLL CML /AC27777, %1
3506 7373 - CLA CMA CLL CML IAC RTR /AC=2,(30
3507 7440 S24
3518 7402 HLT /ERRQRI
3511 7430 SZL

3512 7402 WL T /ERRQR}
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/GROUP 2 QPERATE TEST 1

3513 7248 CLA CMA /AC27777
3514 7728 CLA SMA /TEST COMBINATION
3515 7402 HLT /CLA SMA DJD NOT SKIP
/AC SHOULD BE 0000
3516 7440 SZA
3517 7402 HLT /CLA SMA DD NOT CLEAR AC

/AC SHOULD BE Peee
/GROUP 2 OPERATE TEST ¢

3520 7248 CLA CMA /AC=7777
3521 7649 CLA SZA /TEST COMBINATION

3522 7442 SZA ‘
3523 7402 HLT /CLA SZA SKIPPED OR AC NOT

/CLEARED TO 0veg
/GROUP 2 OPERATE TEST 3

3524 7249 CLA CMA /AC=7777
3525 7542 SMA SZA /TEST COMBINATION
3526 7402 HLT /SMA SEA SHOULD HAVE SKIPPED

/AC SHOULD EQUAL 7777
/GROUP 2 OPERATE TEST 4

3527 7200 CLA /AC20008
3530 7548 SMA SEA /TEST COMBINAT]ION
3534 7422 HLT /SMA SZA SHOULD HAVE SKIPPED

/AC SHOULD EQUAL @289
/GROUP 2 OPERATE TEST b

3532 7202 ClA

3533 18590 TAD K3777 7ACB3777

3534 7549 SMA SZA /YEST COMBINATION

3535 7459 SNA

3536 7482 HLT /SMA SZA SHOULD NOT WAVE SKPPED

/AC SHOULD EQUAL 3777
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/GROUP 2 OPERATE TEST 6

3537 7249 ClLA CMA /AC27777

3542 7749 CLA SMA SE& /TEST COMBINAT]ON

3541 7402 HLT /CLA SMA S2A SHOULD HAVE SK[PPED
/AC SHCULO BE Pede

3542 T744¢ SZA

3343 7422 HLT /AC wAS NOT CLEARED

/AC SKOULD BE P2uY
/GROUP 2 OPERATE TEST 7

3544 7200 CLA /AC=2000

3545 7748 CLA SMA SZA /TEST COMBINATION

3546 7982 _ HLT /CLA SMA SZA SHOULD HAVE SKIPPED
/AC SHOULD BE 0@e0@

3547 7448 SZA

3558 7422 HLT /AC WAS NOT CLEARED

/AC SHOULD BE @ee@
/GROUP 2 OPERATE TEST &

3551 7202 CLa

3ssg 1850 TAD K3777 /AC=3777

3553 7742 CLA SMA S#A /TEST COMBINAT]ION

3554 7449 SZA

3Inss 7442 WLT /SMA SZA DID NOT SKIP QR AC

/NOT GLEARED TO 2000
/GROUP 2 OPERATE TEST ¢

3556 7309 CLL CLA /LINKRY

3557  10%2 TAD K>252 /ACa5252

3550 7620 CLA SNL /TEST COMBINAT]ON

3561 7440 SEA

3562 7402 HLT /SNL SK]PPED UR AC NOT CLEARED

/AC AND LINK SHOULD EQUAL ZERO
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3563
3564
3565
3566

3567
3570

3571
3572
3573
3574

3579
3876
3577

3600
34621

3602
3603

3604
3605
3606
3687

7328
1453
7629
7402

7442
7402

7300
7520
7448
7402

7928
7520
7402

7300
1034
7520
7402

7320
1834
7520
74902

PALL2

/GRQUP

/GROUP

/GROUP

/GRQUP

/GROYP

V14l 3=DEC=69

2 OPERATE TEST 1
CLA CLL cML

TAD K2525

CLA SNL

HLT

SEA
HLT

2 OPERATE TESYT 11
CLA CLbL

SMA SNi,

SZA

HET

2 OPERATE TEST 12
CLA Chlb CML

SMA SN

HLT
2 OPERATE TEST 13
CLA CLL

TAD K49022

SMA SNL

HLT

2 OPERATE TEST 14
CLA CLL CML

TAD K40Q2

SMA SN

HLT

%137 PAGE 64

/ACz22225 | INK®1
/TEST COMBINATION
/SNL DID NQT SKIP
/LINK SHOULD EQUAL ONE

/CLA SN DID NOT CLEAR AC
/AC SHOULD EQUAL 2pee

/AC0R08 L INKsD
/TEST COMBINATION

/SMA SN SKIPPED, AC AND LINK
/SHOULD EQUAL ZERD

/AC=2000 LINKal
/TEST COMBINATION
/8N SHMOULD HAVE SKIPPED, LINK = 1

/ACEABEE | INKED
/TEST COMBINATION
/SMA SHOULD HAVE SKIPPED
/AC24020

/AC=4280 | INKel
/TEST COMBINAT]ON
/SMA SNL SHOULD HAVE SKIPPED
/AC=4202 | INKBY



ZINSTRUCTION TEST = 1

361
3611
34612
3613

3614
3613
3616

3617

3620

3621
3622
3623
3624

3625
3626

3627
3630
3633
3632

3633
3634

3635
3636
3637

3649
3644
3842

7520
7720
7440
7422

7328
7728
7402

7442
7402

7400
1034
7720
7402

7440
7402

7320
1034
7729
7402

7440
7402

7300
7462
7492

7320
74060
7482

PALLD  Vi#1  SeDEC=6#

/GROUP 2 OPERATE TEST 15
cLA CLL
CLA SMA SNL
SZA
HLT

/GROUP 2 OPERATE TEST 16
CLAa CLL CML
CLA SMA SNL
HLT

SZA
HLT

/GROUP 2 OPERATE TEST 17
CLA CLL
TAD K40Q@
CLA SMA SNL
HLT

SEA
WL T

/GROUP 2 OPERATE TEST 18
cLa CLL CML
TAD K4UQ®
CLA SMA SNL
HE T

SZA
HLT

/GROUP 2 OPERATE TEST 19
CLa CLL
SZA SN
HL T

/GROUP 2 OPERATE TEST <22

cLL CLA CM{
SEA SN
HLT

9147 PAGE 65

/ACEE022 L INKs2
/TEST COMBINATION

/SMA SNL SKIPPED, AC AND LINK
/SHOULD BE ZEROQ

/ACE=2020 [ INKEL
/TEST COMBINATJON

/SNL SHOULD HAVE SKIPPED
/LINKEY

/CLA SMA SNL Q1D NOY CLEAR AC
/AC SHOULD EQUAL ZERD

/ACE40808 | INK=R
/TEST COMBINATION
/SMA SHOULD HAYE SKIFPED
ZAC SHOULD EQUAL @82¢ L INK=D

/CLA SMA SNL U]D NOT CLEAR AC
/AC SHQULD EQUAL @888

/ACe4RAB LINK®]
/TEST COMBINATION

/CLA SMA SNL SHOULD HAVE SKIPPED

/AC SHOULD BE @029 LINK®L

/CLA SMA SNL UID NOT CLEAR AC
/AC SHOULD BE 2200 L INK=1

/ACE0PED | INK®D

/TEST COMBINATION
/SZA SNL O]D NOT SKIP
/AC=2000

/ACa2008 | INKEYQ
/TEST COMBINATION
/SZA SNL D]D NOT SKIP
/AC=0282 | INKmy



/INSTRUGCTION TEST = 3

3643
3444
3645
3646
3647

36540
3651
3652
3653

3654
3655
3656

3657
3669

3661
3662
3663

3664
3665

3666
LYY
3578
3673

3672
3873

3674
3675
3676
3677
37489

7300
1931
7460
745¢
7382

7328
1426
7469
7422

7300
7660
7402

744p
7302

7829
7660
7482

7442
7402

7320
1830
7660
7402

7440
7402

7800
1833
7662
7440
7402

PALLD

/GROUP

/GROUP

/GROUP

/GRQUP

2 OPERATE TEST
CLA ChL

TAD K490

SZA SNL,

SNA

WLT

2 OPERATE TEST
CLA CLL CML
TAD KPU04u
SZA SNi
HLT

2 OPERATE TEST
cLA Cl

CLA SEA SNL
HLT

SZA
HET

2 OPERATE TEST
CLA CLL cML
CLA SEA SNi
HLT

SZA
HLT

vi41 $~DEC=69 9187 PAGE 66

21

/AC=R428 | INK=D
/TEST COMBINATION

/SEA SN SKIPPED
ZZIACBQGQQ LINKED

/ACERR4D | INKEL
/TEST COMBINAT]ON
- /S2A SNL SHOULD HAVE SKIPPED
/LINKSY
23
/ACEBETD | INKeD
/TEST COMBINATION
/CLA SZA SNL SHOULD HAVE SKIPPED
/AC AND LINK SHOULD EQUAL ZERD

/GLA SZA SNL DJD NOT CLEAR AC
24/AC SHOULD BE 0029

/ACEBURY | INKe1

/TEST COMBINATION

/CLA SZA SNL SHOULD HAVE SKIPPED

/ACE080D | [NKEY

/CLA SZA SNL DD NOT CLEAR AC
/AC SHOULD EQUAL @9@e2

/GRQUP 2 OPERATE TEST 25

CLA CLL CML
TAD K229
CLA SZA SNL
HLT

SZA
HiLT

/ACE22P@ | INKBY

/TEST COMBINATION OR
/CLA SZA SNL SHOULD HAVE SKIPPED
/LINKEY

/CLA SZA SNL UID NOT CLEAR AC
/AC SHOULD EoUAL 22ep

/GROQUP 2 OPERATE TEST 26

CLA CLL

TAD KZvoo
CLA SZA SNL
SZA

CHLT

7AC22080 | INKeD
/TEST COMBINATION

FCLA SZA SNL FALLED, AC AND
/LINK SHOULD EQUAL ZERQ



FINSTRUCTION TEST = 1

3724
3722
3723

3734
J789
3726
3747

3719
3711
3712
3713

3714
3715
3716
3717
3720

73860
7560
7492

7320
1059
7560
7492

7300
1034
7562
7422

7300
1¢5¢
7260
7450
7402

PALLZ

/GROUR

/GRQUP

/GROUP

/GRQUP

vidli SeQECn0Y 91e7 PAGE 67

2 OQPERATE TEST 27

cLa CLL /AC=0¥22 | INK®D
SMA SEA SN /TEST COMBINATION
“L7 /SMA SZEA SNL SHOULD HAVE SKIPPKD

/AC:ﬂwew LINKED
2 QPERATE TEST 28

CLA CLL CML

TAD K$777 /ACS3777 [ INK31

SMA SZEA SNL /TEST COMBINATION

wLT /SMA SEA SNL SHOULD WAVE SKIPPED

/AC33777 L INK=l
2 OPERATE TEST 29

CLA CLL

TAD K4URY /ACE4URD L INK®Y

SMA SEA SNL /TEST COMBINAT]ON ;

=T /SMA SZA SNL SHOULD HAVE SK!PPED

/AC=4020 LINKE2
2 OPERATE TEST 32

LA CLL

TAD KS777 /ACE3777 L INKED

SMA SEA SNL /TEST COMBINATION

SNA

HLT /SMA SZA SN SHOULD NOT HAVE

/SKIPPED, AC=3777 LINK=D



/INSTRUCTION TEST = 1

3721
3722
3723

3724
3725

3726
3727
37390
3731

3732
3733

3734
3735
3736
3737

3740
3741

3742
3743
3744
3745
3746

3747
3759
3751

3752
3753
3754

7302
7768
7402

7449
7402

7320
1058
7760
7402

7440
7402

7300
1034
7760
7402

7440
74022

7308
1059
7762
7440
7402

7360
7410
7402

7320
7410
7422

PALLE

/GROUP

/GROUF

/GRQUP

/GROUP

/GRQUP

/GRQUP

vid41l 3=DEC-€9 9147 PAGE 68

2 OPERATE TEST 81

cLA CLu /AC=0002 L INKsR

CLA S™A SZA SN[ /TEST COMBINATION

WL T /CLA SMA SZA SNL SHOULD HAVE SKIPPED
/AC SHOULD EQUAL B2ee

SEA

WL T /AC NOT ZERQ AFTER CLA SMA S2A SNL

/AC SHOULD BE €@0@ LINK=E
2 OPERATE TEST 342

CLA CLL CML

TAD K3777 /ACR3777  LINK=Q

CLA SMA SZA SNL /TEST COMBINATION

HLT /CLA SMA SZA SNL DID NOT SKIP

. /AC SHOULD BE 9022 | INKs1

SZA

HLT /CLA SMA SZA SNL DID NOT CLEAR AC

/AC SHOULD EQUAL @088 LINKay
2 OPERATE TEST 33

CLA CLL _
TAD K4P2Q : /ACR4RR2 | INKEE

CLA SMA SZA SNl /TEST COMBINAT]ION

HLT /CLA SMA SZA SNL SHOULD HAVE SKIPPED
: /AC SHOULD BE @208, LINK=@

SEA

HLT : /CLA SMA SZA SNL DID NOT CLEAR AC

/AC SHOULD EQUAL 2228
2 OPERATE TEST 34

cLa CLL '

TAD K3777 /ACR37T77 | INK=@
CLA SMA SEA SNL /TEST COMBINATION

SEA

LT /CLA SMA SZA SNi FAILED, AC

/SHOULD BE ZERQ, LINK3®
2 OPERATE TEST 35

CLA CLL /AC=B20 | INKsE
SKP /TEST INSYRUCTION
HLT /SKIP FAILED

/AC AND LINK EQUAL ZERO
2 OPERATE TEST 36

CLA CLL CML /ACE2008 L INKEL
SKP /TEST INSTRUCTION
HLT /SKIP FAILED

/AC=9008 | InKel



FINSTAGCTION TEST - 1

3755 73529
3756 1952
3757 7410
3y62 7402
3761 730
3762 10%0
3768 7419
37644 7402
3788 7E0¢
3766 1050
3767 T7L0
3778  T4@2
I774  T4a4R
I772 T482
773 7200
3774 1834
3775 7710
3776 7440
3777 7482

4020
420 7240
4g21 7650
4222 7402
4358 7200
agr4 7658
4ar% 7449
4pv6 7402

PaLLY

/GRQUP

/GROUP

/GROUP

/GROUP

#4293
/GRQUP

/GRQUP

vi4l 3=DEC~63 G147 PAGE 69
2 OPERATE TEST J7
cLa CliL CML
TAD KS8777 /AC=3777  INKE1
SKP /TEST INSTRUCTION
1 ¢ /SKIP FAILED
/hC=3777 L INKEL
2 NPERATE TESY I8
CLA CLL
TAD Ke/77 /ACR3IT77 | INKEBD
SKP /TEST INSTRUCTION
HLT /SKIP FAILED
FAC=3777 LINKeQ
2 OPERATE TEST 39
CLA
TAD KE777 /ACB3/TT
cLa SP& /TEST COMBINATION
HL T /CLA SPA DID NOT SKIP, AC
/SHOULD BE EERQ
SZ&
HLT /CLA SFA DID NOT CLCAR AC
FAC SHQULD EQUAL ZERC
2 OPERATE TEST 42
CLA
TAD KaQé /AG=4vLd
C%A SPA /TEST COMBINATION
SZA
Hi T /CLA SPA FAILED, AC SHOULD

2 OPERATE TEST
CLA CMA

CL& SNA

HLT

2 OPERATE TEST
CLA

CLA SNA

SZA

LT

/EQUAL €828

41
/AC=27777
JTEST COMBINATION
/CLA SNA DJD NOT SKIP
/AC SHOULD BE @e22

42
/AC=00R0
/TEST COMBINATION

/CLA SNA FAILED
/AC SHOULD EQUAL 220¢



/UNSTRUCTICON TEST = 1
4327 7200
421¢ 7559
4211 744
4312 7492
4243 7208
4214 1¥b0
4215 75%0
4216 7402
4217 7280
4g20 1034
azel  795¢
4222 7450
4p28  74¢2
4324 7200
4225 7750
4226 7440
4227 7492
4332 7289
4231 1059
4232 7758
4238 7492
4234 748490
4235 74942
4936 7409
4p37 1034
4p42 7750
4741 74490
4942 7402

PALLO

/GRQUP

/GROUP

/GROUP

/GROUP

/GRQUP

/GROUP

PAUSE

vi4l J=DEC~69 913y PAGE 7@
2 OPERATE TEST 43
CLA /AC=DpRR
SPA SNA /TEST COMBINATION (AND)
SZA
HLT /SPA SNA SKIFPED
/ACsHBRY
2 OPERATE TEST 44
cLA
TAD K$/777 /AC33777
SPA SNA /TEST COMBINATION (AND)
HLT /SPA SNA FAILED TO SKIP
, /AC=3777
2 OPERATE TEST 45
CLA
TAD K4v@o /ACE40BR
gPA SNA /TEST COMBINATION (AND)
NA
HLY /SPA SNA SKIPPED,
/AC=40200
2 OPERATE TEST 46
CLA /AC=p0RD
CLA SPA SNA JTEST COMBINATION (AND)
SZA
HLT /CLA SPA SNA FAILED,
/AC SHOULD BE 8222
2 OPERATE TEST 47
CLA
TAD K3777 /ACE3777
CLA SPA SNA /TEST COMBINATION (AND)
HLT /CLA SPA SNA DJD NOT SKIP
/AC SHOULOD BE 0@00
SEA
WL T /CLA SPA SNA DID NOT CLEAR THE AC

2 OPERATE TEST
CLA
TAD K40@@
CLA SPA SNA
SZA
HLT

/AC SHOULD EQUAL 9Jeasd
48

/AC=4200
¢TEST COMBINATION (AND)

/CLA SPA SNA FAJLED
/AC SHOULD EQUAL ZERD



FLNSTR CT TERT - PALLY v1i41 SaDEl =0y 3127 PAGE 71
ZINSTRUCTION TEST = TAPE 4
/GROUP 2 JPLRATE TEST 43
4723 7438 CLa CLL
4285 41452 TAC KDZ252 ' sAC=E5282 [ ]NKs¢
4742 7584 CLA SEL ZTEST CO-gI~ATIAON i
4748 78242 LT ZCLA SZL DID NCT SKIP
/AT AND [ INX SROULD BE 7
4407 784g 24
4252 7622 HLT /CLA SZL 210 NOT CLEAR AC
/AC SHCOULD BE 2ERD, LINK=d
/GROUP 2 QPERATE TEST b2
4231 7362 CLA CLL CML CMA fAC=27777 LINK=Q
4232  783%¢ CLA S£L /TEST COMBINATION (AND)
4758 744y SZA
4zn4 74272 Wy T /CLA SZL FAILED, AC SHOULD!
/BE 22288, LINK=E1
/GROUF 2 QPERATE TEST 51
458 732¢ cLa CLi
4756 1952 TAD KS777 /AC23777 L INKSE
4257 723¢ SPA SZL /TEST COMBINATION (AND)
dpas 7422 LT /SPA S DID NOT SKIP
7AC=3777 (nKad
/GROUF 2 OPERATE TEST 22
4251 7322 CLA CLL M
47482 145¢ TA) K3777 /AC=3777 L InNKal
4263 7338 SPA SZL /TEST COMBINATION (AND)
4,64 745§ SNA
4365 7442 ~LT /SPA SZ[ SKIPPED
/AC=3777 | IhKEl
/GROUP 2 OQPERATE TEST 53
4258 7822 CLAa CLL
ars7  1ese TAD Kaege /ACTAKBE L INK=D
4272 7938 SPa SEL /TEST COMBINATION (AND)
ax?% 7523 SMA
6372 7342 T /SPA SEL SKIPPED
/AC=42¢@ | INKEY
/GROUP 2 OPERATE TEST 54
€778 T4k ClLAa CLi
4n74 1458 TAD K3777 /ACEITTT [ INK=Y
4r7h 7738 Cl.& SPA SZ{ /TEST COMBINATION C(AND)
4570 78g2 LT /CLa SPA SZL SHOULD HAVE SKIPPED
JAC SHOULD BF w2, LINK=d
4777 1443 374
418

Taae LT /CLA SFA SZL UID \NOT CLEAR THE AC
/40 SHOULD 3B eda? i



/INSTRUCTION TEST = 3

4131
41p2
4123
4104
4105

4186
4107
4110
4111
4112

4113
4114
4115
4116

4117
4120
4321
4122
4123

4124
4123
4126
4127

4130
4131
4132
4133
4134

7320
1650
773¢
7449
7402

7400
1834
7738
7440
7422

7300
1034
7470
7402

7320
1034
7470
7420
7402

7320
7472
7430
7402

7320
1034
767¢
7447
7402

PaL12

/GROYP

/GROUP

/GRQUF

/GROYFP

/GROUP

/GROUP

vi4l 3=DEC

2 OPERATE TEST
CLA CLL CML
TAD K3777
CLA SPA SZL
SZA
HLT

2 QPERATE TEST
CLA CLL
TAD KA40Q2
CLA SPA SZ{
SZA
HLT

2 OPERATE TEST
CLA CLL

TAD K4220

SNA SEi

HLT

2 OPERATE TEST
CLA CLL CML
TAD K4020
SNA SZi
SN
ML T

2 QPERATE TEST
cLa CLL

SNA SE|

SEL

HLT

2 OPERATE TEST
CLA CLbL CML
TAD K40g@

CLA SNA SEL
SZA
HLT

69 9127 PAGE 72

55

/AC=3I7T7  LINKS1
/TEST COMBINATION (AND)

/CLA SPA SE| FAJLED
. /AC SHOULD EGUAL @292 LINKel
6

/ACR4032 | [NKBD
/TEST COMBINATION (AND)

/CLA SPA SEL FAILED
/AC SHOULD EQUAL 222@ LINK=Y
57

/AC24088 | INK32
/TEST COMBINATION (AND)
/SNA SEL DID NOT SKIP
58/Ac = 4090 L INKeR

/AC=4000 | INKai
/TEST COMBINATION (AND)

/8NA SZ| SKIPPED
/AC=4000 | INKs}1
59
/ACRBR08 L INK=D
/TEST COMBINATION (AND)

/SNA SEL SKIPPED
/ACE00BO | INKED
62

/AC24020 | INK3l
/TEST COMBINATION (AND)

/CLA SNA S2Z|. FAILED. AC SHOULD
/BE 2p@@, L[INK=l



ZINSTRUCTION TEST = 1

4135
4136
4137
4142

4141
4142

4143
4144
4145
4146

4147
4156
4151
4152

4153
4154
43153
4156
4457

4160
4161
4162
4163

4164
4165
4166
4167
4170

7308
1454
7670
7402

7440
7402

7300
7670
7440
7402

7500
1¢50
7570
7402

7328
1058
7570
7429
7402

7500
757¢
7432
7402

7800
1034
7570
7430
74022

FALLD

/GRQUP

/GROUP

/GRQOUP

/GROUP

/GROQUP 2 OPERATE TEST

/GROUP 2 OPERATE TEST

viél

Iw0DEC~69 91327 PAGE 73

2 OPERATE TEST 61

CLa
TAD
CLA
HL T

SEA
ALY

2 OPERATE TESY

CLA
CLA
SZA
ALY

2 DPERATE TEST

CLA
TAD
SEa
LY

2 OPERATE TEST

CLA
TaD
SPa
Shi
HiT

CLaA
SPA
SEL
HLT

CLA
TAD
SPA
SEL
HLY

cLL
K4vQo
Sha SEi

CLL
SNA SiEL

CLL
K$777
SNA SZi

CLL CML
K&777

sNA SZL

cLL
SNA SZ

cLL
K4000
SNA SEL

/AC340¥D [ INKED
/TEST COMBINATION (AND) ;
/CLA SNA SZL DJD NOT SKIP
/AC SHOULD BE €822, LINKE=Z'

JCLA SNA SZL 0D NOT CLEAR AC
/AC AND L INK SHOULD BE ZERD
62 ~
/ACEBBAG | INKSD
/TEST COMBINATION (AND?

/CLA SNA SZL FAILED, AC SHOULD
/BE 2088, L INKsB
63

JACm37T7 ([ INKSE
JTEST COMBINATION (ANDY
/SPA SNA SEL 01D NOT SKIP |
/AC=3777 LINKag

64

FRCE3777  LINKEL
/TEST COMBINATION (AND)

/SPA SNA SZ| SKIPPED
/AC=3777 LINKel
65
/ACEQUER | INK=R
/TEST COMBINATION (AND)

/SPA SNA SZ{ SKIPPED
/ACRQB00 [ INKap
66

/ACE40B2 | INK3E
/TEST COMBINATION (AND} |

/SPA SNA SZL SKIPPRED
/ACR42E0 LINKeR



/INSTRUCTION TEST = 1

4171
4472
4173
4174

4175
4476

4177

4200
4201
4202
4203
4204

42¢%
4216
4207
4219
4211

4212
4213
4214
4215

4216
4217
4220
4221
4222
4223

7800
1050
7770
7402

7449
7402

7000
4202

7820
1050
7770
7440
7402

7308
1034
7770
7440
74é2

7308
7770
7440
7302

7200
1052
7604
7u4i
7440
7402

FALLZ V14l 3=DECm6Y 9187 PAGE 74

/GROUP 2 CPERATE TEST 67

ClLLA CLL

TAD K3727 ZAC=33777 | INK=3

CLA SPA SNA SZL /TEST COMBINATION (AND)

HLT /CLA SPA SNA S2L DID NOT SKIP

. /AC AND L INK SHOULD BE ZERQ
A

HLT /CLA SPA SNA SZL DJD NOT CLEAR AC
op AAC AND LINK SHOULD BE ZERO

N

#4209

/GROUP 2 OPERATE TEST 68

CLA CLL CML

TAD K$777 /AC33777 [ INK=1

C;A SPA SNA SZL /TEST COMBINATION (AND)

SZA

HLT /CLA SPA SNA SEL FAILED, AC SHOULD

/BE 2200, LINK SHOULD EQUAL ONE
/GROUP 2 DPERATE TEST 69

CLA CLL :
TAD K4¥p3 /AC34¥EE [ INK2p

C%A SPA SNA S2l /TEST COMBINATION (AND)

SZA

RLT /CLA SPA SNA SZL FAILED, AC SHOULD

/BE 2000, LINK SHOULD EQUAL ZERO
/GRQUP 2 OPERATE TEST 72

cla CLL /AC=0000 | INKsQ
C%A SPA SNA S3L /TEST COMBINATION (AND)

SEA .

HLT /CLA SPA SNA SEL FAILED, AC AND

/LINK SHOULD BE ZEROQ,
/GROUP 2 QPERATE TEST 71

CLA
TAD k5252 /ACE5292
CLA OSR /TEST COMBINATION
CMA

SZA

HLT /CLA OSR PAILED

/AC SHQULD BE @@



ZINSTRUCTION TEST =

4224
4225
4226
4227

4239
4231
4232

4233
4234
4235

4236
4237
4248

4241
4242
4243

4244
4745
4246

4247
4257
4251
4258
4253

4254
425%
4256

4257
4269
4261

4242
4263
42464

7280
1434
7204
7402

7040
7448
7402

7200
7444
7402

7040
7449
7402

73202
7424
7482

7¢40
7442
7402

7500
1852
7764
7450
7402

7042
7440
7422

72082
7414
7402

7449
7440
7422

1

PALLY

/GROUP

/GRQUP

/GROUP

/GROUP

viél

2 OPERATE TEST

CLA
TAD
SMA
LT

L}
SEA
HLT

2 OPERATE TEST

CLA
SEA
HLT

CMA
SZ4A
HLT

2 OPERATE TEST

cLL
SN[,
HLT

CMa
SEA
HLT

2 OPERATE TEST

CLA
TAD

CLA SMA SZA SNL OSR

SNA
HLT

CMA
SZ4
LT

3-DEC~69 9147 PAGE 75

K4¥D2
0SR

OSR

CML CLA
OSR

CLi,
K$777

72

/ACE400Y
/TEST COMBINATION
/SMA 0SR FAILED TO SKIP
/AC SHOULD BE 7777

/SMa OSR FAILED
/A SHOULD BE ¢02@
73
/AC=20@2
/TEST COMBINATION
/824 OSR FAILED TO SKIP
/AC SHQULD BE &322

/524 OSR FAILED,
/AC SHOULD BE w200
74
/LINKEL
/TEST COMBINATION
/SNL OSR FAILED TO SKIP
/AC SHOULD BE 7777

/SN, QSR FAILED,
/AC SHWOULD BE ewde
75

/AC=3777 LINK2Q
/TEST COMBINATION

/CLA SMA SZA SNL 0SR FAILED,
/AC SHOULD BE 7777, LINKe=d

/CLA SMA SZA SNL OSR FAILED
/AC SHOULD EQUAL ZERQ

/GROUP 2 OPERATE TEST 76

CLA
SKP
HLT
CHMA
SEA
“LT

0S8R

/AC=200¢

/TEST COMBINATION
/SKP OSR DID NOT SKIP
/AC SHOULD BE 7777

/SKP QSR FAILED
/AT SHQUWD EQUAL BERC



/INSTRUCTION TESY = 1

4265
4266
4267

427¢
4271
4272

4278
4274
4275
4276

4277
4304
43061

4382
4393
4304

4305
4306
4307

43192
4313
4312
4313

4314
4315
4316

7200
7514
7402

7842
7440
7402

7809
1231
7454
7462

7049
7440
7482

7300
7434
7402

7048
7440
7402

7300
1050
7774
7402

7048
7440
7402

PALLY vidl $=DEC-69

/GROUP 2 OPERATE TEST 77
CLA
§Pa OSR
HLT

CMA
SZA
ML T

/GROUP 2 QPERATE TEST 78
CLA
TAD KD4pg@
SNA OSR
HLT

CHA
SZA
KT

/GROUP 2 OPERATE TEST 79
cLa CLL
S#, OSR
HLT

CMA
S2A

HLT

/GROUP 2 OPERATE TEST 8@
CLA CLL
TAD K3777
CLA SPA SNA SZL
HLT

CMA
S2A
HLT

9127 PAGE 76

/AC=R0RD

/TEST COMBINATION
/SPA QSR DID NQT SKIP
/AC SHOULD EQUAL 7777

/SFA OSR FAILED,
/AC SHOULOD BE 2opd

/ACRB42Y
/TEST COMBINAT]ON
/SNA QSR DID NOT SKIP
/AC SHOULD BE 7777

/SNA OSR FAILED
/AC SHOULD BE 0eep

JLINKSD  ACEPYUDR
/TEST COMBINATION
/SEL OSR D]D NOT SKIP
/AC SHOULD BE 7777

/SZ. QSR FAILED
/AC SHOULD BE oo

/ACa3777 LINKs2
OSR /TEST COMBINATION (AND)
/ABOVE MESS DID NOT SKIP
/AC SHQULD BE 7777

/CLA SPA SNA SZL OSR FAILED
/AC SHOULD BE booo



sINSTRUCTION TEST = 12 PALLZ vid1l 3=DEC=69 ig7 PAGE 77

/AND TEST 1
4317 7229 CLA
4329 203 AND K7777
4321 7449 SZA
4322 7402 . ML T /AND FAILED AC SKOULD
/BE 2@Qp2
/AND TEST 2
4323 7249 CLA CMa
4324 $v20 AND KP©da
4325 7442 SEA
4326 7482 HL T /AND FAILED
/AC SHOULD EQUAL ouee
/AND TEST 3
4327 7320 CLA CLL CML
4332 1251 TAD K7777 /ACET7777  LINK2}
4331 ¢u51 AND K7777
4332 7840 CMa
4333 7430 SEL
4334 7440 S2A
4335 7402 HE T /AND FAILED, AC SHOULD BE
/8220, LINK SHOULD EQUAL ONE
ZAND TEST 4
4336 73289 CLa CLL
4337 1853 TAD K2525 7ACE2525 | INKs2
4344 pUb2 AND K9252
4341 7420 SNL
4342 74490 SZA
4343 7422 HLT /AND FAILED, AC SHOULD BE

/8082, LINK SHOULD BE @
/AND TEST 5

4344 7300 CLA CLL
4345 3452 TAD K5252 /AGs5252 | [NKag
4346 053 AND K2925

4347 7420 SNL

43560 7449 SZA

4351 7402 HLT /AND FAILED, AC SHOULD BE

/@3¢, LINK SHOULD BE 2



fFINSTRUCTION TEST = 1

4352
4353
4354
4355%
4156
4357
4360
4351

4362
4363
4364
4365
4366
4347
4372
4374

4372
4373
4374
4375
4376
4377

4420
4421
44112
4429
4404
4405
4476
4407
4419

4411
4412
4413
4414
4419
446

4417
4420
4421

7300
1235
€052
7041,
1052
7450
7440
7422

7300
1853
pe53
7041
10593
7430
7440
7462

7000
7098
7000
7000
7080
7000
4400

7208
1220
7001
3ez2v
1220
7640
5147
1221
3220

1217
6046
62041
5213
6042
5147

v2a7
76049
7609

PALLY vidl

/AND TEST 6
CLA
TAD
AnND
Cla
TAD
SAL
SZA
HLY

/AND TEST 7
CLA
TAD
AND
ClA
TAD
SZL
SZA
HLT

NQP

NOP

NQP

~NOP

NQP

NOP
#4492

3alEC=69

CLL
K7776
Kb292

K252

CLL
k2525
K2525

k2225

/CHECK FOR BELL

CLA
TAD
1AC
0CA
TAD
S£A
JHMP
TAD
0CA

/RING BELL
TAD
TLS
TSF
JMP
TCF
JuP

BEL 22a7
BLCNT,» =203
BLCOMN: =280

BLCNT

BLONT
BLCNT
ClA
START#J
BLEON
BLCNT

BEL

p=1

START*$

9147 PAGE 78

/AC=7776 LINK=2Z

/TEST INSTRUCTION
7AC=R2526

/AC=2220 | INKsl

/AND FAILURE, AC SHOULD BE
/8RB, LINK SHQULD BE ONE

/AC=2225 | INKED

/TEST INSTRUCTION
/AC=25253

/ACu¥BR LINK = ]

/AND FALILED, AC SHOULD BE
/2200, LINK SHOULD BE ONE,



MAINDEC EVALUATION REQUEST

After sufficient familiarization with the operation and documentation of this MAINDEC,
please indicate your assessment of the following areas and retum this form to Digital Equipment Cor-

poration.

IDENTIFICATION: MAINDEC NO. Program Title

USAGE: Used by: Field Service D Production [:] Other D

Frequency of Usage: Daily D Weekly [:] Monthly D
SUGGESTIONS FOR IMPROVEMENT

1. Are the program loading and operating instructions: c|ear?G, incomplete ? D, difficult to

follow ?D

2. Do the error reports and program documentation provide sufficient diagnostic information:
in all cases?D, in most cases ? D, in very few cases ?D. Suggestions for improvement:

3. Is the program effective in isolating malfunctions: in all cases ?D, in most cqses?D,
in very few cases?D. Would additional Scope loops or Switch Register control be helpful ?
Suggestions for improvement:

4, Does the program ever fail to detect malfunctions exposed by other software ?
Were Margins used ? Please describe malfunction in detail:

5. Does the program ever report non-existant malfunctions?
Please indicate erroneous report and any pertinent operating conditions:

6. Does this MAINDEC ever expose malfunctions in the Central Processor or other peripheral units not
detected by the appropriate MAINDEC ?
Please describe malfunction and MAINDEC(S) used:

the system? Good[ |, Fair[ ], None[ ]. Would a general description of programming re-

7. Does the documen’r[i)vide a general understanding of the functional programming requirements of
quirements increase the effectiveness of this MAINDEC ?

Remarks:
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